s

J
< \Pmm ;-

Data Book 50Hz

Ahead > Beyond

3E Series

going beyond expectations

Looking ahead,




PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

CONTENTS

50Hz

SPECIFICATION

PRODUCT FEATURES

MAIN APPLICATION

MODEL VARIATION

GENERAL SPECIFICATION PUMP
GENARAL SPECIFICATION MOTOR
PERFORMANCE RANGE 2 POLE
PERFORMANCE RANGE 4 POLE
SELECTION CHART 2 POLE
SELECTION CHART 4 POLE

TYPE KEY

PERFORMANCE CURVE SPECIFICATIONS

MEI INDEX SPECIFICATIONS

PERFORMANCE CURVE 2 POLE 32-125
PERFORMANCE CURVE 2 POLE 40-160
PERFORMANCE CURVE 2 POLE 40-200
PERFORMANCE CURVE 2 POLE 50-100
PERFORMANCE CURVE 2 POLE 50-125
PERFORMANCE CURVE 2 POLE 50-160
PERFORMANCE CURVE 2 POLE 50-200
PERFORMANCE CURVE 2 POLE 65-100
PERFORMANCE CURVE 2 POLE 65-125
PERFORMANCE CURVE 2 POLE 65-160
PERFORMANCE CURVE 2 POLE 65-200
PERFORMANCE CURVE 2 POLE 80-100
PERFORMANCE CURVE 2 POLE 80-160
PERFORMANCE CURVE 2 POLE 80-200

PERFORMANCE CURVE 2 POLE 100-160

PERFORMANCE CURVE 4 POLE 32-160
PERFORMANCE CURVE 4 POLE 32-200
PERFORMANCE CURVE 4 POLE 40-160
PERFORMANCE CURVE 4 POLE 40-200
PERFORMANCE CURVE 4 POLE 50-125
PERFORMANCE CURVE 4 POLE 50-160
PERFORMANCE CURVE 4 POLE 50-200
PERFORMANCE CURVE 4 POLE 65-125

Rev.B

201
202
203
204
205
206
207
208
209
210
211
212
213
215
216
217
218
219
220
221
222
223
224
225
227
228
229
231
232
233
234
235
236
237
238

101

R Eaaaa

E BARA CORPORATION



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

R Eaaaa

CONTENTS 50Hz
Rev.B
PERFORMANCE CURVE 4 POLE 65-160 239
PERFORMANCE CURVE 4 POLE 65-200 240
PERFORMANCE CURVE 4 POLE 80-160 242
PERFORMANCE CURVE 4 POLE 80-200 243
PERFORMANCE CURVE 4 POLE 100-160 245
CONSTRUCTION
SECTIONAL VIEW DRAWING 301
3E 32-125,40-160,50-100/125/160,65-100/125,80-100
SECTIONAL VIEW TABLE 302
3E 32-125,40-160,50-100/125/160,65-100/125,80-100
SECTIONAL VIEW DRAWING 3E 40-200,65-160 303
SECTIONAL VIEW TABLE 3E 40-200,65-160 304
SECTIONAL VIEW DRAWING 305
3E 50-200,65-200,80-160/200,100-160
SECTIONAL VIEW TABLE 306
3E 50-200,65-200,80-160/200,100-160
SECTIONAL VIEW DRAWING 307
3ES 32-125,40-160,50-100/125/160,65-100/125,80-100
SECTIONAL VIEW TABLE 308
3ES 32-125,40-160,50-100/125/160,65-100/125,80-100
SECTIONAL VIEW DRAWING 3ES 40-200,65-160 309
SECTIONAL VIEW TABLE 3ES 40-200,65-160 310
SECTIONAL VIEW DRAWING 311
3ES 50-200,65-200,80-160/200,100-160
SECTIONAL VIEW TABLE 312
3ES 50-200,65-200,80-160/200,100-160
SECTIONAL VIEW DRAWING 313
3E4 32-160,40-160,50-125/160,65-125
SECTIONAL VIEW TABLE 314
3E4 32-160,40-160,50-125/160,65-125
SECTIONAL VIEW DRAWING 3E4 100-160 315
SECTIONAL VIEW TABLE 3E4 100-160 316
SECTIONAL VIEW DRAWING 317
3E4 32-200,40-200,65-160
SECTIONAL VIEW TABLE 318
3E4 32-200,40-200,65-160
102
EBARA CORPORATION



IN-LINE CENTRIFUGAL PUMPS 3E

CONTENTS 50Hz
Rev.B
SECTIONAL VIEW DRAWING 319
3E4 50-200,65-200,80-160/200
SECTIONAL VIEW TABLE 320

3E4 50-200,65-200,80-160/200
SECTIONAL VIEW DRAWING 3ES4 50-160,65-125 323

SECTIONAL VIEW TABLE 3ES4 50-160, 65-125 324
SECTIONAL VIEW DRAWING 3ES4 100-160 325
SECTIONAL VIEW TABLE 3ES4 100-160 326
SECTIONAL VIEW DRAWING 329
3ES4 32-200,40-200,65-160

SECTIONAL VIEW TABLE 330
3ES4 32-200,40-200,65-160

SECTIONAL VIEW DRAWING 331
3ES4 50-200,65-200,80-160/200

SECTIONAL VIEW TABLE 332
3ES4 50-200,65-200,80-160/200

BEARINGS 3E 2 POLE 333
BEARINGS 3E 4 POLE 334
BEARINGS 3ES 2 POLE 335
BEARINGS 3ES 4 POLE 336
MECHANICAL SEAL (Standard and Special version) 337
3E 3ES 2 POLE

MECHANICAL SEAL (Standard and Special version) 339
3E 3ES 4 POLE

COUPLING 3ES 2 POLE 342
COUPLING 3ES 4 POLE 343
BASE PLATE 344
COUNTER FLANGE & GASKET 345

103

5 EdAnA EBARA corroraTtion

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

CONTENTS 50Hz
Rev.B
DIMENSION & WEIGHT
DIMENSIONS & WEIGHT 3E 2 POLE 346
DIMENSIONS & WEIGHT 3E 4 POLE 347
DIMENSIONS & WEIGHT 3ES 2 POLE 348
DIMENSIONS & WEIGHT 3ES 4 POLE 349
PACKING 3E - 2POLE 350
PACKING 3E - 4POLE 351
PACKING 3ES - 2POLE 352
PACKING 3ES - 4POLE 353
TECHNICAL DATA

3E MOTOR DATA 2 POLE 354
3E MOTOR DATA 4 POLE 355
3ES MOTOR DATA 2 POLE 356
3ES MOTOR DATA 4 POLE 357
NOISE DATA 3E-3ES 2POLE 358
NOISE DATA 3E-3ES 4POLE 359

104

EBARA CORPORATION



PM10U

IN-LINE CENTRIFUGAL PUMPS 3 E

SPECIFICATION 50Hz
Rev.B

PRODUCT FEATURES

Energy-saving design
v' Major improvement over our previous models by impeller designed
using our proprietary 3D inverse design technology.
v' Higher efficiency means lower energy consumption and motor output,
and more compact size.

Easy installation and simple maintenance

Alignment is not required.

Back pull-out structure enables disassembly and inspection without
removal of suction and discharge piping.

Shield bearings eliminate need for adding or exchanging lubricating oll.
Shaft seal flushing piping not required for the standard application.
Air-bleeding not required.

Simplified shaft seal and “O” ring body seal enable easy assembly.

v
v

AN NI NN

Pump specifications & features

Maximum operating pressure: 16 bar(*)

Liquid temperature range expansion: -10°C to 120°C
Back pull-out design

ring casing seal

AN NI NN

International standards

Pump dimensions adopt EN733

Mechanical seal adopts EN12756

Protector fitted in accordance with EN294.

Electric motor conforms to IEC60072-1 and IEC60034-1

AN NI NN

(*) Several models are 1.0MPa

201
g EgAnA EBARA corroraTion




IN-LINE CENTRIFUGAL PUMPS 3E

SPECIFICATION 50Hz
Rev.B

MAIN APPLICATIONS

BUILDING SERVICE

Air conditioning-district heating & cooling
HVAC system

General water supply

Hot water circulation

Pressure boosting

DN NI NN

WATER SUPPLY

Water supply duties for municipalities
Heat station

Irrigation

Drainage clean water

Fire protection

Swimming pool

Pressure boosting

Air conditioner

Chilling unit

. ol
Boiler l&
Heat exchanger

Coolant unit
Water circulation unit

AN N NN

\\\\\\8

202
g EgAnA EBARA corroration

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

SPECIFICATION

50Hz

MODEL VARIATION

Rev.B

Version

3E

3ES

pole

2 pole

4 pole

2 pole

4 pole

32-125

L 4

32-160

32-200

\ 2L 4K

40-100

40-160

40-200

L 2L 4R

Y I

50-100

50-125

50-160

50-200

L 2L AL 4B

65-100

Pump Size

65-125

65-160

65-200

L 2L 4L 4B

60 oo

80-100

L 8 48 28 28 48 2€ 28 4K 2% 4L 2K

L 28 28 48 48 2L 2k 2 4L 48 4L g

80-125

80-160

80-200

4L 2R

L dL 2R

L 4R

80-250

100-160

o

o

100-200

100-250

203

E BARA CORPORATION



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

SPECIFICATION 50Hz
Rev.B
GENERAL SPECIFICATION PUMP
PUMP
Version 3E 3ES
Pole 2pole |  4pole 2pole |  4pole

L - Clean water[1], Brine(anti-freezing liquid),

ngL::jdle d Type of liquid Water/Glycol mixture up to 40% vol. [2]
Temperature [°C] -10t0 120

Maximum working pressure [MPa] 1.00r1.6 [3]
Maximum suction pressure [MPa] 1.0 or 1.6 - Shut-off pressure

Impeller

Closed centrifugal type Closed centrifugal three
dimensional blades for 65 and 80 version

Construction Shaft seal type

Mechanical seal (with air ventiration system)

Bearing Sealed ball bearing (Inside of the Motor)
32-100/125/160/200 Flange DN32 according EN 1092-1 Standard
' Suction 40-100/125/160/200 Flange DN40 accord?ng EN 1092-1 Standard
Pipe _ and 50-100/125/160/200 Flange DN50 according EN 1092-1 Standard
Connection Discharge 65-100/125/160/200 Flange DN65 according EN 1092-1 Standard
80-100/125/160/200/250 Flange DN8O0 according EN 1092-1 Standard
100-160/200/250 Flange DN100 according EN 1092-1 Standard
Casing Cast iron EN-GJL-250-EN 1561
32,40,50,65
mpeller series,80—1OQ EN 1.4301 (AISI 304)
Other 80 series EN 1.4401 (AISI 316)
100 series EN 1.4404 (AISI 316L)
Casing |32,40,50,65,80 series EN 1.4301 (AISI 304)
cover |80-250,100 series EN 1.4404 (AISI 316L) stainless casting
SiC/Carbon/EPDM as a standard(Q1AEGG)
SiC/SIC/EPDM as an optional(QGQ1EGG)
Mechanical seal SiC/SiC/FPM as an optional(QGQ1VGG)
SiC/Carbon/FPM as an optional(Q1AVGG)
Material (For version see page 337+339)
O-ring EPDM as a star_ldard
FPM as an optional
Designation Extended shaft Stub-shaft
EN 1.4301 (AISI 304) for | EN 1.4301 (AlISI 304) for
32,40,50,65,80 series wetted part wetted part
Shaft Carbon steel for dry part Carbon steel for dry part
EN 1.4404 (AISI 316L) for | EN 1.4404 (AISI 316L) for
100 series wetted part wetted part
Carbon steel for dry part Carbon steel for dry part
- Cast iron EN-GJL-250-EN
Bracket Aluminium

1561

Accessory (upon request)

Counter Flange (See page 345)
Base plate for 11kW or above

Applicable standard of test

ISO 9906:2012 — Grade 3B

[1] Viscosity and Dencity shall be equivalent with water

[2] If water-glycol mixtures are used, differents power consumption and pump performances shall be considered.

[3] Depending on the model. See selection chart page 208 and 209

204

B ERARA

E BARA CORPORATION




PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

SPECIFICATION 50Hz
Rev.B
GENERAL SPECIFICATION MOTOR
MOTOR
3E 3ES
Type Electric - TEFC
Three Phase
o IE2 from 0.37 kW up to 0.55 kW
Efficiency level (Reg. 640/2009)
IE3 from 0.75 kW up to 22 kW
No. of Poles 2 4 2 4
Rotation speed [min-1] ~2900 ~1450 ~2900 ~1450
Insulation Class F (temperature rise class B)
Protection degree (CEI EN 60034-5) IP55
_ (kW] 0.37 +22 0.37+3.0 0.75+22 0.55+3.0
Power rating
[HP] 0.5+30 05+4.0 1+30 0.75+4.0
Frequency [Hz] 50
Voltage V] 230/400 £10% (up to 4.0 kW)

400/690 £10% (5.5 kW and above)

Over load protection

Provided by the user

Casing material

Aluminium

Motor support material

Cast iron / Aluminium

Dimensions of cable entry

PG11, PG13.5, PG16, PG21

M20x1.5, M25x1.5

M32x1.5, M40x1.5, M50x1.5
M10x1.5, M20x1.5, M25x1.5

Flange mount (IEC motor)

IM B5

205

E BARA CORPORATION



PM10U

IN-LINE CENTRIFUGAL PUMPS 3E

SPECIFICATION

50Hz

Rev.B
PERFORMANCE RANGE 2 POLE

10 15 20 3? 4|0 5? 6|0 7|08|0 l[l)Olc'fO 1610 E(IJO 8?03[]]0 4([]0 5?06?0 8[0010100

I I I I I I T T [ I ! T ! LI I 1
8 10 15 20 30 40 S0 60 7080 100120 160 200 250300 400 500600 8001000

100 S
_ | 65-200/9.2 es-z?o/n
y 80 ] 65-200/15
—] Q
[ml 60 = ~— 50~200,/1;
0 :200/7.5
40-200/4,0 9~200
40 T\ 0 s
200/3,0 00/5.5
30 401602, [ O~180 »
S0~
40-160 00
k7 — /1.5 S 3 6 )
20 : ITS/OJS < \ Ot2s,, N5 0
32"|25/o.55 T 40150 /,_,50"25/1_5 'L | \
90,7 65-125/2.2
10 50 10y, |
~1op 02
g - /0.55 65, 0\,0 \_
0, N 65-100/1.5
] PN :
So<;, 2
- 00 S
) 703, ’oo/o
N [
| / / /
3 | /
10 15 20 30 40 60 80 100 150 200 300 400 600 8001000 1500 2000 3000 5000
QCl/min)
T TT T T T T T T TT T T T T T T L T T 1
0.6 0.8 1 2 3 4 6 8 10 20 30 40 60 80 100 200 300
3
Q (m?/h)

e Eaana

E BARA CORPORATION



PM10U

IN-LINE CENTRIFUGAL PUMPS 3E

SPECIFICATION S0Hz
Rev.B

PERFORMANCE RANGE 4 POLE

U SI' g p-m ‘.? ? IP 115 QIO 3P 4|0 SEJ GIO 7|08|0 I?OIEIO 16|0 E?O 2‘.1303?0 4[|)0 5?06?0 810010100
I | | | | | | | I | | I I | | I | | | | 1
Inp. g. p. m. 5 8 10 15 20 30 40 S0 60 7080 100120 160 200 250300 400 S00600 8001000
S0
40
H
[ml 30
20
4,
m 2
10 1 /0-55_ \/\,_?0
8 - 32-150/0'37

0,

0
s
0. /ON/.x
S N 7 ’6‘0//:$
4 - 40-160/0. A >so-zoo/2. 2/ /
, . 5 |
A Nons/ |
0~12545 3, 80-160/1.5
> 40-160/0.37R /

1 Nalaliml

] 32- '60/0~37R

LU

10 15 20 30 40 60 80 100 150 200 300 400 600 8001000 1500 2000 3000 5000
Q/mind

[ ——— T T T T T T T T 171 T T T T T T T T 11 T T 1
006 08 1 2 3 4 6 8 10 20 30 40 60 80 100 200 300

Q(m3/h)

207
g EgAnA EBARA corroration




IN-LINE CENTRIFUGAL PUMPS 3 E
SPECIFICATION S0Hz

Rev.B
SELECTION CHART 2 POLE
3E SERIES 32 SIZE
i 1/min 0 25 50 75 100 125 150
Pump type kw HP p’\rneiét\jvrgrmga) m¥h 0 15 3 45 6 75 9
32-125/0.37 0.37 0.5 1.0 14.8 143 | 136 | 126 — — —
32-125/0.55 0.55 0.75 1.0 175 173 | 168 | 162 | 154 | 144 | 133
32-125/0.75 0.75 1 1.0 25.2 245 | 234 | 219 | 200 | 178 | 153
3E SERIES 40 SIZE
i I/min 0 100 150 200 250 300 400 450
Pump type kw HP p’\rneasél\jvrgr?'{/lnga) m¥h 0 6 9 12 15 18 24 27
40-160/1.1 1.1 15 1.6 226 211 | 195 | 174 | 147 | 116 - -
40-160/1.5 15 2 1.6 29.6 277 | 261 24 21.6 - - -
40-160/2.2 22 3 1.6 36.5 351 | 335 | 314 | 290 | 261 - -
40-200/3.0 3 4 1.6 445 425 | 402 | 376 | 349 | 319 - -
40-200/4.0 4 55 1.6 52.9 516 | 49.2 | 464 | 434 | 405 - -
40-200/7.5 75 10 1.6 68.5 680 | 657 | 627 | 59.4 | 56.0 | 489 | 448
3E SERIES 50 SIZE
i 1/min 0 100 200 300 400 450 500 650 750 800
Pump type kw HP pl:/lezxsmzrmga) m3h 0 6 12 18 24 27 30 39 45 48
50-100/0.37 0.37 0.5 1.0 7.9 7.8 6.5 4.0 - - - - - -
50-100/0.55 0.55 0.75 1.0 115 115 | 100 7.2 - - - - - -
50-100/0.75 0.75 1 1.0 15.0 146 | 129 9.9 - - - - - -
50-125/1.5 15 2 1.6 18.9 192 | 185 | 171 | 151 - - - - -
50-125/2.2 22 3 1.6 254 | 253 | 247 | 234 | 215 | 203 - - - -
50-160/3.0 3 4 1.6 30.4 - 285 | 267 | 245 | 233 | 219 | 173 - -
50-160/4.0 4 55 1.6 38.8 - 371 | 354 | 333 | 321 | 308 | 266 - -
50-200/5.5 55 75 1.6 45.7 - 44 426 | 408 | 397 | 386 | 344 - -
50-200/7.5 75 10 1.6 56.0 - 536 | 524 | 50.8 | 49.9 | 488 | 447 | 412 -
50-200/11 11 15 1.6 70.8 - 687 | 675 | 659 | 650 | 639 | 599 | 562 | 54.0
3E SERIES 65 SIZE
Max working I/min 0 100 150 200 250 400 450 500 550 700 900 | 1000 | 1100
Pump type kw HP
pressure (MPa) m¥h 0 6 9 12 15 24 27 30 33 42 54 60 66
65-100/0.55 0.55 0.75 1.0 9.4 9.0 8.7 8.4 7.9 6.1 53 45 - - - - -
65-100/0.75 0.75 1 1.0 11.2 107 | 105 | 101 9.7 8.1 7.4 6.6 - - - - -
65-100/1.1 1.1 15 1.0 15.0 144 | 142 | 139 | 137 | 125 | 119 | 113 | 105 - - - -
65-100/1.5 15 2 1.0 18.6 177 | 175 | 173 | 172 | 165 | 161 - - - - - -
65-125/2.2 22 3 1.6 19.4 - 195 | 195 | 193 | 184 | 180 | 176 - - - - -
65-125/3.0 3 4 1.6 21.3 - - 218 | 218 | 21.3 | 210 | 206 | 201 | 184 - - -
65-125/4.0 4 55 1.6 25.4 - - - 259 | 256 | 254 | 251 | 247 | 230 | 19.9 - -
65-160/5.5 55 75 1.6 32.8 - - - - 317 | 313 | 308 | 297 | 283 | 247 | 225 | 19.9
65-160/7.5 75 10 1.6 38.5 - - - - 376 | 373 | 369 | 364 | 345 | 309 | 287 | 265
65-200/9.2 9.2 125 1.6 51.3 - - - - 494 | 487 | 480 | 472 | 442 | 390 | 36.0 -
65-200/11 11 15 1.6 57.1 - - - - 554 | 547 | 540 | 531 | 502 | 451 | 42.1 | 38.8
65-200/15 15 20 1.6 733 - - - - 718 | 712 | 705 | 69.7 | 67.0 | 622 | 59.3 | 56.0
3E SERIES 80 SIZE
Pump type w P Max working 1/min 0 400 600 900 | 1000 | 1100 | 1300 | 1500 | 1700 | 1900 | 2100
pressure (MPa) m?h 0 24 36 54 60 66 78 90 102 114 126
80-100/1.5 15 2 1.0 125 10.9 9.8 7.3 - - - - - - -
80-100/2.2 22 3 1.0 14.8 138 | 130 | 111 | 102 - - - - - -
80-160/9.2 9.2 125 1.6 35.3 - 338 | 320 | 312 | 303 | 280 | 251 | 216 | 175 | 128
80-160/11 11 15 1.6 39.9 - 386 | 368 | 361 | 352 | 332 | 306 | 276 | 239 | 195
80-160/15 15 20 1.6 455 - 444 | 426 | 419 | 410 | 391 | 369 | 342 | 311 | 275
80-200/18.5 185 25 1.6 58.8 - 574 | 543 | 53.0 | 516 | 485 | 451 | 412 | 368 | 317
80-200/22 22 30 1.6 66.6 - 648 | 623 | 612 | 600 | 572 | 53.8 | 49.9 | 455 | 407
3E SERIES 100 SIZE
Pump type W P Max working I/min 0 1300 | 1600 | 1900 | 2200 | 2500 | 2800 | 3000 | 3200 | 3400 | 3600
pressure (MPa) m¥h 0 78 96 114 132 150 168 180 192 204 216
100-160/11 11 15 1.6 29.9 263 | 252 | 240 | 226 | 208 | 184 | 165 | 143 - -
100-160/15 15 20 1.6 34.7 326 | 316 | 304 | 290 | 274 | 253 | 236 | 216 | 191 -
100-160/18.5 18.5 25 1.6 39.1 374 | 367 | 356 | 343 | 326 | 305 | 288 | 269 | 248 | 225

208

E m E BARA CORPORATION

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS 3E

SPECIFICATION

50Hz

3E4 SERIES 32 SIZE

Rev.B
SELECTION CHART 4 POLE

Max. working | Vmin | 0 50 | 100 | 150 | 200
Pump type kw HP pressure (MPga) m3/h 0 3 6 9 12
32-160/0.37R | 0.37 | 05 1.6 73 | 68 | 60 | 47 | —
32-160/0.37 | 0.37 | 05 1.6 93 | 89 | 81 | 67 | 50
32-200/0.55 | 0.55 | 0.75 1.6 131 | 125 | 111 | 91 | 6.7
3E4 SERIES 40 SIZE
pump type o | up | Max working | Umin | o 50 | 100 | 150 | 175 | 200 | 250
pressure (MPa) | m3p 0 3 6 9 | 105 12 | 15
40-160/0.37R | 0.37 | 05 1.6 73 | 68 | 60 | 48 | 40 | 30 | —
40-160/0.37 | 037 | 05 1.6 93 | 90 | 82 | 69 | 61 | 53 | 3.3
40-200/0.55 | 0.55 | 0.75 1.6 125 | — | 105| 89 | 80 | 69 | —
40-2000.75 | 075 | 1 1.6 167 | — | 149 | 132|123 | — | —
3E4 SERIES 50 SIZE
pump type o | e | Max working /mn | 0 | 100 | 150 | 200 | 250 | 300 | 350 | 400 | 450
pressure (MPa) | m3n 0 6 9 12 | 15 | 18 | 21 | 24 | 27
50-125/0.37 | 0.37 | 05 1.6 61 | 60 | 56 | 51 | 45 | 38 | 30 | 21 | —
50-160/0.55 | 0.55 | 0.75 1.6 95 | 89 | 85 | 79 | 73 | 65 | 57 | 48 | —
50-200/0.75 | 0.75 | 1 1.6 109 | 105 | 101 | 96 | 91 | 84 | 76 | 66 | 53
50-200/1.1 11 | 15 1.6 135 | 129 | 125 | 121 | 115 | 108 | 100 | 91 | 84
50-200/1.5 1.5 2 1.6 16.9 | 16.1 | 15.7 | 153 | 14.7 | 14.0 | 13.1 | 12.0 | 10.7
3E4 SERIES 65 SIZE
pump type o | up | Max working | Umin | 0 | 200 | 250 | 300 | 350 | 400 | 500 | 600 | 700
pressure (MPa) | m3jp 0 12 15 18 | 21 | 24 | 30 | 36 42
65-125/0.55 | 0.55 | 0.75 1.6 61 | 61 | 60 | 58 | 55 | 51 | 42 | 33 | —
65-160/0.75 | 0.75 | 1 1.6 77 | 75 | 72 | 70 | 66 | 62 | 52 | 40 | 26
65-160/1.1 11 | 15 1.6 92 | 90 | 87 | 84 | 80 | 76 | 66 | 54 | 39
65-200/1.5 1.5 1.6 13.6 | 130 | 126 | 121 | 116 | 109 | 95 | 7.7 | 57
65-200/2.2 2.2 1.6 17.9 | 171 | 168 | 163 | 158 | 152 | 136 | 11.6 | 9.2
3E4 SERIES 80 SIZE
pump type o | up | Max working | Umin | 0 | 350 | 500 | 600 | 800 | 900 | 1000 | 1100 | 1200
pressure (MPa) | m3p 0 21 30 | 36 | 48 | 54 | 60 | 66 72
80-160/1.5 1.5 1.6 98 | 93 | 86 | 81 | 67 | 58 | — — —
80-200/2.2 2.2 1.6 14.7 | 140 | 131 | 124 | 103 | 91 | 78 | — —
80-200/3.0 3 1.6 16.7 | 158 | 149 | 142 | 124 [ 112 | 10 | 86 | 7.1
3E4 SERIES 100 SIZE
pump type o | e | Max working /mn | 0 | 600 | 800 | 1000 | 1200 | 1400 | 1600 | 1800
pressure (MPa) | m3h 0 36 | 48 | 60 | 72 | 84 | 96 | 108
100-160/1.5 | 1.5 1.6 78 | 69 | 67 | 63 | 56 | 48 | — —
100-160/2.2 | 2.2 1.6 98 | 91 | 88 | 84 | 79 | 71 | 60 | 48

209

e Eaana

E BARA CORPORATION



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

SPECIFICATION

50Hz

3E|432 - [125

0.75

R-

TYPE KEY

Q1AVGG

Rev.B

\—Optional Mechanical Seal

NA : Q1AEGG (Standard)
Q4Q1EGG (Optional)
Q4Q1VGG (Optional)
Q1AVGG (Optional)

Reduced Impeller
NA : Full diameter Impeller
R : Reduced Impeller

Motor Power (kW)
0.37/0.55/0.75/1.1/1.5/2.2/3/4/5.5/
7.5/9.2/11/15/18.5/22

Nominal impeller diameter in millimeters

100/125/160/200

Suction/Discharge nozzle, nominal size in millimeters

32/40/50/65/80/100

Number of poles

NA=2 poles

4=4 poles

3E Series

3E : Extended shaft model
3ES : Stub shaft model

210

EBARA CORPORATION



PM10U

IN-LINE CENTRIFUGAL PUMPS 3E

SPECIFICATION 50Hz
Rev.B

PERFORMANCE CURVE SPECIFICATIONS
The specifications below qualify the curves shown on the following pages.

Tolerances according to ISO 9906:2012 - Grade 3B

The curves refer to effective speed of asynchronous motors at 50 Hz, 2 poles.

Measurements were carried out with clean water at 20°C of temperature and with a kinematic viscosity
of v=1 mm?/s (1 cSt)

The NPSH curve is an average curve obtained in the same conditions of performance curves.

The continuous curves indicate the recommended working range. The dotted curve is only a guide.

In order to avoid the risk of over-heating, the pumps should not be used at a flow rate below 10% of best
efficiency point.

Symbols explanation:

Q = volume flow rate
H = total head
P> = pump power input (shaft power)
n = pump efficiency
NPSH = net positive suction head required by the pump
MEI = minimum efficiency index

211
B Eaara EBARA corvorarion




IN-LINE CENTRIFUGAL PUMPS 3E

PERFORMANCE CURVE SPECIFICATIONS 50Hz
Rev.B

MEI INDEX SPECIFICATIONS
The minimum efficiency index (MEI) is a measure of the quality of a pump size in respect to its mean efficiency.
The minimum efficiency index is based on the hydraulic efficiency and on the head at the best efficiency point.

The efficiency of a pump with trimmed impeller is usually lower than that of a pump with the full impeller
diameter. The trimming of the impeller will adapt the pump to a fixed duty point, leading to a reduced energy
consumption. The minimum efficiency index (MEI) is based on the full impeller diameter.

The operation of these water pumps with variable duty points may be more efficient and economical when
controlled, for example, by the use of a variable speed drive that matches the pump duty to the system.

ME! = 0.4 for ESCCI 2000rpm ME|=0,7 for ESCCi 2900 rpm
'. ]
- ks (Y]
| -y e | na
! by 2 ‘? as
™o no o
e | "
ne
- &
£ nDs
3 MNa ‘x
. © 1kt .'t.',o
: i ne '3 e
. ne L M
: @ } o e
"l g &
“r wno
) _e : bade
o w t: ' "
ne- R € ) no
s oL sar
w2
— me
o
L s
- w2 e
» » » - » L »n - b od - t"n ; ;l 3 ; = é = :a ~ = - - . "
wth et w ) e bl das

ME!I = 0.4 for ESCCi 1450 rpm MEI = 0.7 for ESCCI 1450rpm

» MEMO 7 2 B3SO0 g
"o .3

“ ns . =
ma ! &
»a aan L3%S
— 1
» nn‘
s g %
na
w . » « o
wo ms
- | -3 § " fa
i »r e &) I 4 f ne
- s =4 NO
: - : M ne
ws nL
=i L T
> %2 "o
- L 1
" “» s e
S b T 5
w0 on
7 vy =
-0 [T
e .o
ue
] o = -~ ) x 0] 3 - w * ~ 0 - - " n » ™ o
B (g b et qpast e o

B2 eanna EBARA corsonsrion

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

PERFORMANCE CURVE S0Hz
Rev.B
3E(S) 32-125 2 POLE
32-125/0.37 (0.37kW) - impeller diameter = 114mm
32-125/0.55 (0.55kW) - impeller diameter = 118 mm
32-125/0.75 (0.75kW) - impeller diameter = 146 mm
OLSgpn 10 15 20 25 30 15 4 45 l
| 1 1 1 | 1 | | | | I
] | | ] I | I ] |
i 0 Iep. 6 oA 10 IS 20 25 1| ] &0
H Rl
[m [Ft]
25 Sm- Ly
T~
[~
™~ - 70
20 IS
\\k
125, NN - 60
i /0' )5 -
P —t— .
N yo
=== 125/0, 55 —~ %
~u S NPSH
125/0, 37 ()] [ft]_40
620
10 S
ol ]
-
= NPSH 3410
2
1= a0
5
0 25 50 75 100 125 150 175 QL/nin
| | I | | I | | | | I | |
0 1 2 3 4 5 N 7 8 9 10 11 QLm¥h)
0.8
125/0. 75
e == LI
(H S - 125/0. 55
0.4
I —-125/0. 37
0.2 | L1
0 25 S0 75 100 125 150 175 QL /nin)
; % [TT1
" 6 um 125/0. 55
(% — 125/0. 75
40 T \: :
= 125/0. 37
20
0
0 25 50 75 100 125 150 175 QL 1/nin)
Rotation speed = 2900 min
Test standard : 1ISO 9906 Annex A
213
EBARA CORPORATION



PM10U

IN-LINE CENTRIFUGAL PUMPS 3E

PERFORMANCE CURVE 50Hz
Rev.B
3E(S) 40-160 2 POLE

40-160/1.1 (1.1kW) - impeller diameter = 133 mm
40-160/1.5 (1.5kW) - impeller diameter = 151 mm
40-160/2.2 (2.2kW) - impeller diameter = 166 mm

OLSgpn 20 o &0 ] £ M &0 0 100
| 1 | | | | 1 | 1 | |
| ] 1 | 1 1 | ] ]
0 Irp. g po m 20 0 40 50 &0 70 80
&0 L :ljﬂ
=y s =120 H
[ml 3% T [Ft]
‘-‘h_
e =110
04— ~ 100
_—
~~ Y 90
e~ 4'6'0 N
- 7
e ™ i 3 - 80
1] ™~
- 3 70
20 [~ NPSH
I~ /6 [m) [Ft)
\\0/1_ I 60
. - 20
15 ISR 5= 15[
NPSH - 310
- - 40
-5
1 ]
10
0 50 100 150 200 250 300 350 QL /min)
I | I | | I | | I | | | |
0 2 4 6 8 10 12 14 16 18 20 22  QLn¥h)
2- S ] 1 Ll l
P22 o T 160/2. 2
(kW) — —
1.5 — 16071, 5
— 160/1. 1
1.0 | .|
0.5 | 11
0 50 100 150 200 250 300 350 QL /min)
60
; | 160/2. 2 |
~J [ T T
(%) S0 Z v 160/1. 1
Za 160/1. 5
40 Z
30
0 50 100 150 200 250 300 350 QL /min]
Rotation speed = 2900 min-!
Test standard : ISO 9906 Annex A
215

g EgAnA EBARA corroration



IN-LINE CENTRIFUGAL PUMPS 3E

PERFORMANCE CURVE 50Hz
Rev.B
3E(S) 40-200 2 POLE

40-200/3.0 (3.0 kW) - impeller diameter = 186 mm
40-200/4.0 (4.0 kW) - impeller diameter = 200 mm
40-200/7.5 (7.5 kW) - impeller diameter = 224 mm

0 LS gpn 20 30 40 50 b o B a0 {0 1@ @ 130
: 4 ] I ] 4 ] L ] I : I | . | I | 4 ] I 1 L 1
0 lrp g pn 20 0 a0 50 i) 0 A0 80 100 110
80 - 250
H 240 H
Y | - = [ 1]
= - = [ aap
by
'
60 N, 5
Py
- 180
I B g = ey <
™~ N
S0 — . - ~N< 160
=t TSR0/ 9.0 5
N NN NPSH |- 140
40 - - -~ (m) [F1)
T~ 20 -
2/2'0 8—_25 120
-
- 0 6 T2L 100
0 = 415
’—
NPSH ~10 o
15
20
0 50 100 150 200 250 300 350 400 450 Q[ U/min)
| | I | | I I | | | I | | I I |
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 QLm/h)
8
HERE
Pe ¢ 200/7.5
[kV) |
L]
4 =t 200/4, 0
200/3. 0
B = 1111 }
0 50 100 150 200 250 300 350 400 450 Q[ U/min)
60
M
(%) T L 200/7.5
0 BE s o= ~—+200/3. 0
AT AT 200/4,0
30 f;
20
0 50 100 150 200 250 300 350 400 450 QL U/min

Rotation speed = 2900 min
Test standard : ISO 9906 Annex A

216
g EgAnA EBARA corroration

PM10U



IN-LINE CENTRIFUGAL PUMPS

3E

PERFORMANCE CURVE S0Hz
Rev.B
3E(S) 50-100 2 POLE
50-100/0.37 (0.37kW) - impeller diameter = 86 mm
50-100/0.55 (0.55kW) - impeller diameter = 101 mm
50-100/0.75 (0.75kW) - impeller diameter = 114 mm
OULsgpmn 21 | 40 5l &0 L1 Bl kL 100
| i i i | | | | | i |
I ] ] I ] ] 1 I 1
0 Irgs gopo e 20 i 40 50 &0 m B0
1r.S
55
H - H
Lnl 15 gt [Ftl
- N e
N |/
03/0- 75
12.5 & 40
et 1 - | — ~J
e - |35
10 200, N
<P - 30
\\
N
7.5 - - NPSH |25
- [m) (ft)
— 100/0
g 7 P20
— - 20
s \‘ 5-— 15 - 15
1 NPSH 310
13 10
2.5
0 50 100 150 200 250 300 350 QL /min)
I 1 I 1 1 I 1 1 I | 1 I |
0 2 4 6 8 10 12 14 16 18 20 22  Qlm¥/h)
0.8 r
100/0. 75
pe 0. 6 — L . . .
—— 100/0. 55
(- Ll
' 100/0. 37
0.2
0
0 S0 100 150 200 250 300 350 QL /min)
70
T T 11
n 100/0. 55 Jf ] — I
1 1 /’ N
(%) 60 et =
K NA AT T 100/0. 75 100/0. 37
v /' ,
50 ;//
/
40
0 S0 100 150 200 250 300 350 Q[ /min)
Rotation speed = 2900 min-!
Test standard : ISO 9906 Annex A
217
EBARA CORPORATION

PM10U



IN-LINE CENTRIFUGAL PUMPS 3E

PERFORMANCE CURVE 50Hz
Rev.B
3E(S) 50-125 2 POLE

50-125/1.5 (1.5 kW) - impeller diameter = 125 mm
50-125/2.2 (2.2 kW) - impeller diameter = 140 mm

0USgpn 40 60 80 100 120 140
L | 1 1 1 | | 1
| I 1 | I | |
20 0 Imp.g.p.m 20 40 60 80 100 120
- 90
H H
(m 5=t = [ o L[]
P—
iy
=~ 125/2. 2 L 70
20 I~
——
- 60
[ —
~ 125/1. 5
15 — 0
- 40
NPSH
10 [m) (F)}-30
8155
6 =20 20
5 n
gt
\ NPSH - ]0 — 10
e-- 5
0 ' ' 0
0 100 200 300 400 500 0L /min
| I | | | | |
0 6 12 18 24 20 QLn¥h)
3
[ 11
P2 > 125/2. 2
(kW) T
—— 125/1.5
1
0
0 100 200 300 400 500 QL /min
70
; 125/2. 2
. i 125/1. 5
(7%
SO ]
- e
40 <
'/,
20 /
0 100 200 300 400 500 QL /min
Rotation speed = 2900 min
Test standard : ISO 9906 Annex A
218

g EgAnA EBARA corroration

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

PERFORMANCE CURVE 50Hz
Rev.B
3E(S) 50-160 2 POLE
50-160/3.0 (3.0 kW) - impeller diameter = 151 mm
50-160/4.0 (4.0 kW) - impeller diameter = 166 mm
0US gp.n 40 60 80 100 120 140 160 180 200
= 1 . 1 | : 1 . | % 1 . | : 1 . |
o 0 Inp. g p. 40 60 80 100 120 140 160
-d.__._ L =130
H T [~ '_120 H
tm B £
30 15074, 5 TS - 100
‘.*
1 S 90
& = - 80
1g
%) 0 - 70
20
- - 60
N
NPSH
15 tm cea)
7 P40
20
10 NPSH = 37-15] 5
+ = 3410
S
5 1 1 20
0 100 200 300 400 500 600 700 QL 1/min)
| I | | I I | 1 I | | I |
0 4 8 12 16 20 24 28 32 36 40 44 QLn¥/h)
S I 11
Pe 4 | 16074, 0
(ko = = -
3 — 160/3. 0
2
1
0 100 200 300 400 500 600 700 QL /min)
70
; | - 160/4. 0
T 1] T
(7 60 /”’ T T 160730
A
A
50
40
0 100 200 300 400 500 600 700 QL 1/min)
Rotation speed = 2900 min-!
Test standard : 1ISO 9906 Annex A
219
EBARA CORPORATION



IN-LINE CENTRIFUGAL PUMPS 3E

PERFORMANCE CURVE 50Hz
Rev.B
3E(S) 50-200 2 POLE

50-200/5.5 (5.5 kW) - impeller diameter = 183 mm
50-200/7.5 (7.5 kW) - impeller diameter = 200 mm
50-200/11 ( 11 kW) - impeller diameter = 224 mm

0US gpmn 40 60 80 100 120 140 160 180 200 220 240 260
| ] ] ] ] ] | ] 1 | ] ] | 1

| I I | 1 1 I I 1 || 1 1
0 Inp. g. p. m 40 60 80 100 120 140 160 180 200 220
80 - 260
-240 H
[m 704+ 4 [f1]
] —220
e
o
- 200
60 = 3
0,
u Ll
‘-~--1 _180
50 [Tt
— 160
3 \'*
==L u *\\ 800/7'
~— Ny S NPSH |-140
40 = S (m) [£1)
ma 20, -
\\0/55 8—_25 120
6 =20
- -
% NPSH - 5[ 100
— 49
— 10 -
2 s
20
0 100 200 300 400 500 600 700 800 900 Q[ 1/min)
| 1 I | 1 | I | 1 1 I | 1 | I |
0 2 4 6 8 100 12 14 16 18 20 22 24 26 28 QLm/n
12 ——r
200/11
P - | |
[kW) ; 1T 200/7.5
- -
———— 200/5. 5
2 ]
0 100 200 300 400 500 600 700 800 900 QCU/min)
70 l 1 L] L] L]
200/11
n 60 =1 L1
. -—— \ 11
(%
- \ 200/7. 5
30 = 200/5. 5
40
30
0 100 200 300 400 500 600 700 800 900 QCU/min)

Rotation speed = 2900 min
Test standard : ISO 9906 Annex A

220
g EgAnA EBARA corroration

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

PERFORMANCE CURVE S0Hz
Rev.B
3E(S) 65-100 2 POLE
65-100/0.55 (0.55 kW) - impeller diameter = 88 mm
65-100/0.75 (0.75 kW) - impeller diameter = 94 mm
65-100/1.1 ( 1.1 kW) - impeller diameter = 104 mm
65-100/1.5 ( 1.5 kW) - impeller diameter = 114 mm
0 U.S gpn 40 60 80 100 120 140 160 180 200
: 1 - 1 . | : 1 : | % 1 . 1 : 1 . |
»s 0 Imp. g p. 40 60 80 100 120 140 160
— 80
H H
(m 70 et
20
~ . — 60
100/ 5 T
15 L = > 50
h'h!-‘
- - 40
e
10 -~~—~__ 100/1. I\
] = — - — 30
— - NPSH
- 100/0, 75 (m) (£
: ‘i\.\ 62020
S 100/0, 55 2:— 15
—— NPSH g::;" 10
l_.
0 0
0 100 200 300 400 500 600 700 QL /min)
| | | | | I | | | | | I |
0 4 8 12 16 20 24 28 3R 36 40 44 Q(m7n)
0 T T 11
Pal.6 Lt 100/1. 5
(k1.2 = =+ 100/1. 1
0.8 - 100/0. 75
0.4 100/0. S5
0 |
0 100 200 300 400 500 600 700 QL 1/min)
% - ! 100/1. 1}
n 70 - oo |
_ = [ L 1 +100/0. 75
(7% - T St
60 100/1. 5 100/0. 55
S0 s
40
30
0 100 200 300 400 500 600 700 QL /min)
Rotation speed = 2900 min
Test standard : ISO 9906 Annex A
221
EBARA CORPORATION

e Eaana



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

PERFORMANCE CURVE S0Hz
Rev.B
3E(S) 65-125 2 POLE
65-125/2.2 (2.2 kW) - impeller diameter = 126 mm
65-125/3.0 (3.0 kW) - impeller diameter = 131 mm
65-125/4.0 (4.0 kW) - impeller diameter = 140 mm
0USgpn S0 75 100 125 150 175 200 25 2% 275 300
| I | | | | | | I | I
” 0 Irp. g p. S0 75 100 125 150 175 200 2es 250
~ 90
g — H
—— £t
m 25 ~ 185/4_ 5 | a0 [ft]
[~
—— e e 185/3. 0 70
20 — ‘!\ ~ -
e .ES/E. e _— ~
15 - 50
40
10 NPSH
tm (et 30
SIS
20 (20
5 — SF15
NPSH _ — 341010
IS
0 0
0 200 400 600 800 1000 QL /min)
| 1 I 1 | I 1 1 I | 1 I |
0 B 12 18 24 30 36 42 48 54 60 66  QLn¥h)
5.0 1
P24.0 125/4. 0
[kV)3.0 125/3.0
2.0 = |
L0 12|5/.?. 2
0 1
0 200 400 600 800 1000 QL /min)
80 - - 1
—t—t 125/4.0
170 125/3. 0
(%) 60 125/2. 2
S0
40 4
30
20
0 200 400 600 800 1000 QL/min)
Rotation speed = 2900 min-!
Test standard : 1ISO 9906 Annex A
222
EBARA CORPORATION



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

PERFORMANCE CURVE 50Hz
Rev.B
3E(S) 65-160 2 POLE
65-160/5.5 (5.5 kW) - impeller diameter = 154 mm
65-125/7.5 (7.5 kW) - impeller diameter = 166 mm
0USgpn 100 200 250 300 350
= : | . | | . I . = . |
5 0 Imp.g.pm SO 100 150 200 250 300
~ 160
H H
[n) — 1400 ¢y
40
- ~ 120
~. [ |,
Mg g s g g g I - T~ 60/2 5
30 ——— — — 100
! -—
‘\@/5 5
S 80
\\
20
60
NPSH
(m) (ft)-40
10 10
bl o
NPSH - 6120
T
2
0 0
0 250 500 750 1000 1250 QL 1/min)
| I 1 1 I 1 |
0 15 30 45 60 75 Q Ln¥/h)
10.0 } }
[5517- 5 160/7. 5
5.0 — — 160/5. 5
2.5
0
0 250 500 750 1000 1250 QL 1/min)
75
n 70 e —
(% ~1160/7.5
65 ) | |
160/5. 5
60
55
0 250 500 750 1000 1250 QL 1/ninl
Rotation speed = 2900 min-!
Test standard : 1ISO 9906 Annex A
223
EBARA CORPORATION



IN-LINE CENTRIFUGAL PUMPS

3E

PERFORMANCE CURVE S0Hz
Rev.B
3E(S) 65-200 2 POLE
65-200/9.2 (9.2 kW) - impeller diameter = 191 mm
65-200/11 ( 11 kW) - impeller diameter = 200 mm
65-200/15 ( 15 kW) - impeller diameter = 224 mm
OUlSppnS0 100 150 200 250 300 350
| | | | 1 | |
'III Irp. g po Erllil :IIIII J'IE-':I .':‘IIZI{I 230 I
80 - 260
H =1 T T = = =240 H
Il 0 b LFt)
= - 220
60 A — 200
1 1 1 N
_—— - 180
e e e e e c—— T~
S0 h"-\ - \\ 800/11 = 160
o
—P~ NPSH [~ 140
40 ~ < [m] (£t
800/9.3 8—_25_120
)
prd 6 =20
30 NPSH - s - 100
4_
== - 10
2—_ 5 — 80
20
0 200 400 600 800 1000 1200 QL 1/min)
| | | | | | | | |
0 10 20 30 40 S0 60 70 QLn*/h)
20
[ ]
Pa _| 200/15
—— 200/11
10 - 20079. 2
S = I 1
0 200 400 600 800 1000 1200 QL 1/min)
70 .
L —1200/11
n /.E — F
() 60 // ] 200/9. 2
L~ [} 200/15
,
S0
40
0 200 400 600 800 1000 1200 QL 1/min)
Rotation speed = 2900 min-!
Test standard : ISO 9906 Annex A
224
EBARA CORPORATION

e Eaana

PM10U



IN-LINE CENTRIFUGAL PUMPS 3E

PERFORMANCE CURVE 50Hz
Rev.B
3E(S) 80-100 2 POLE

80-100/1.5 (1.5 kW) - impeller diameter = 103 mm
80-100/2.2 (2.2 kW) - impeller diameter = 110 mm

0 U.S. g p.n 50 100 150 200 250 300 350
} 1 | : I . | L | . % l |
” 0 Imp.g.p.m S0 100 150 200 250 300
- 60
H H
[m [£1)
50
+=F -;\\
\ J
- 0p — 40
T~ ¥/e' e
— —
10 T
\ 100/1. 3 30
I
NPSH
£t
tmd (#0]
\\ 8__35
< 620
\ NPSH 4 B0
— 10
2 s
0
0 200 400 600 800 1000 1200 QC/mind
| 1 1 1 1 1 1 1 1
0 10 20 30 40 S0 60 70 QLn¥h)
3
Pe
) 100/2. 2
8 W
100/1. 5
| |
0 200 400 600 800 1000 1200 QL /mind
80 T Ll
n 100/2. 2
(% 70 100/1. 5
2
60 /
7
50
0 200 400 600 800 1000 1200 QC/mind
Rotation speed = 2900 min-!
Test standard : ISO 9906 Annex A
225

g EgAnA EBARA corroration

PM10U



IN-LINE CENTRIFUGAL PUMPS

3E

PERFORMANCE CURVE S0Hz
Rev.B
3E(S) 80-160 2 POLE
80-160/9.2 (9.2 kW) - impeller diameter =160 mm
80-160/11 ( 11 kW) - impeller diameter = 168 mm
80-160/15 ( 15 kW) - impeller diameter =178 mm
0 U.S.gp n100 200 300 400 S00 600 700
} : 1 l I : I l 1 . % I 1
5 0 Imp.g.p.m 100 200 300 400 500 600
~ 160
=q—-|—--—_
H ~D~‘ \ H
[m . ~140 ety
40 -=.._~_~ —
I N - 120
T T - 16
e~ \\ 3/15
e
30 = S — 100
s AN /e ~
-~ 0///
N - -~ 80
20 o3
“Q
AN 60
N NPSH
N
N ] [F1)
- N [f—
620 |-40
10 NPSL/ i:'ls
= 3410 (20
— 2
il ok
0 0
0 400 800 1200 1600 2000 2400 QL /min)
| 1 | | 1 1 I | 1
0 20 40 60 80 100 120 140 Q [n’/h)
16 -
P 1 160715
[k 12 —— 160/11
I o I — 160/9. 2
8 g —
4 1
0 400 800 1200 1600 2000 2400 QL /min)
% 1 |
T 20 B I': —
(%) IR 16:)/1;5
NN
60 ~\\ S 16IO/lll
N
30 N 160/9. 2
40 [
0 400 800 1200 1600 2000 2400 QLU/min)
Rotation speed = 2900 min-!
Test standard : 1ISO 9906 Annex A
227
EBARA CORPORATION

PM10U



IN-LINE CENTRIFUGAL PUMPS

3E

PERFORMANCE CURVE S0Hz
Rev.B
3E(S) 80-200 2 POLE
80-200/18.5 (18.5 kW) - impeller diameter = 201 mm
80-200/22 ( 22 kW) - impeller diameter = 212 mm
0U.S.g.p.n100 200 300 400 500 600 700
I 1 I I 1 1 |
. 0 Imp.g.p.m 100 200 300 400 500 600
N - 220
H . - H
Cm) ~ | oo [FY)
60 s p— —————
[~~~ :@00/
D G - 180
N
N
50 \\ - 160
<0
\\00/19
‘\;j N
N ‘\\ 140
40 \\\
A - 120
NPSH
AN [m) [£1)
~ 100
30 ‘g 0
NPSH — 6120
4 0 — 80
o1
20
0 400 800 1200 1600 2000 2400 QL /min)
| | | | | | | | |
0 20 40 60 80 100 120 140 QLn¥/h)
24 L] L)
Ps — 200/22
LK) ——— == 200/18. 5
16 —
1T —
8
0 400 800 1200 1600 2000 2400 QL 1/min)
80
n
(%) 70 FE_‘
i ~ - 200/22
60 7 ™ 200/15. 5
7 :
- [
0 400 800 1200 1600 2000 2400 QL1/min)
Rotation speed = 2900 min-!
Test standard : ISO 9906 Annex A
228
EBARA CORPORATION

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

PERFORMANCE CURVE S0Hz
Rev.B
3E(S) 100-160 2 POLE
100-160/11 (11 kW) - impeller diameter = 154 mm
100-160/15 ( 15 kW) - impeller diameter = 165 mm
100-160/18.5 (18.5 kW) - impeller diameter = 174 mm
0USopn 200 400 500 B0 1000 1200
L]
- ﬂl Trge g o EE': -l':|lﬂ -='-II'-'II E’ZII'D I.':.':.'.'E!
— 160
H H
[nl =140 ¢4
.‘::I i
e —1c0
e T o e —
\.\‘ ] 160/
30 - [~~~ : 195 L 100
=< 1\60//5 T NC
~ N AN - 80
20 {7 \\
<t 60
N NPSH
(m) (ft)-40
10 10
NPSH —t g ¥
612020
4 —
10
0 0
0 1000 2000 3000 4000 QL 1/min)
lIJ 5'0 1(')0 1%0 ec'n 2"30 Q [n"/h]
20 T
P2 T 1610/18. S
(kw16 — T '
— — 16?/15
12 = 1
160/11
8 1 1
0 1000 2000 3000 4000 QL 1/min)
85
: L
. S
(2 75 = DN Q< 160/18. 5
N T 160715
65 160/11
S5
0 1000 2000 3000 4000 QL 1/min)
Rotation speed = 2900 min-!
Test standard : 1ISO 9906 Annex A
229
EBARA CORPORATION



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

PERFORMANCE CURVE 50Hz
Rev.B
3E(S) 32-160 4 POLE
32-160/0.37R (0.37 kW) - impeller diameter =151 mm
32-160/0.37 (0.37 kW) - impeller diameter = 166 mm
0 US gp.n 20 30 40 50 60 70
: | - 1 - 1 I 1 - | { 1 :
i 0 Imp.g.p.m 10 20 30 40 S0 60
- 32
-t -
- T~ H
[m) S < 28 [ty
8 ~
S N 7 24
“~~‘=~ D 60/03
4
N
75, S - 20
» N
\\ N 16
4
NPSH [~ 12
[m) [F8)
168
2 &\ 4—_12
— NPSH
o8 4
— 4
0 0
0 50 100 150 200 250 0L /nin)
| | | | I | |
0 3 6 9 12 15 QLm¥/h)
0. 4 T L) L}
Ps B—— 160/0. 37R
tan® 3 160/0. 37
0.2 =T |
——
0.1
0 50 100 150 200 250 QL /nin)
65 I 11
N ss 1 11
O l,/ 160/0. 37
45 -
35
160/0. 37R
& =TT
15 l
0 50 100 150 200 250 QL /nin)
Rotation speed = 1450 min-!
Test standard : ISO 9906 Annex A
231
EBARA CORPORATION



IN-LINE CENTRIFUGAL PUMPS 3E

PERFORMANCE CURVE 50Hz
Rev.B
3E(S) 32-200 4 POLE
32-200/0.55 (0.37 kW) - impeller diameter = 200 mm
0USgpn 20 30 40 50 60 70
| | 1 1 | | | 1
| | | | I | |
< 0 Imp.gpmn 10 20 30 40 S0 60
~ 45
H - ~ H
[m)i2, s [~ L 40 [f1]
i
~ — 35
10
~ - 30
c"o)P‘\
R N 25
7.5 95 TN
N
- 20
S NPSH
[m) [Ft)f-15
12
31010
2.5 ~—] NPSH [ -6
e+
- 4 9
l_
-2
0 0
0 S0 100 150 200 250 QL /min)
| | I | I | |
0 3 6 9 12 15 QLn¥/h)
0.6 T
P2o.s —{ 200/0. 55
[KN) — —
0.4 —
0.3
0.2
0 50 100 150 200 250 QL /min)
0 - |
M 45 —
(% 200/0, 55
40 //
35
30 7
25
0 S0 100 150 200 250 QL /min)

Rotation speed = 1450 min-!
Test standard : ISO 9906 Annex A

232
g EgAnA EBARA corroration

PM10U



IN-LINE CENTRIFUGAL PUMPS

3E

PERFORMANCE CURVE 50Hz
Rev.B
3E(S) 40-160 4 POLE
40-160/0.37R (0.37 kW) - impeller diameter = 151 mm
40-160/0.37 (0.37 kW) - impeller diameter = 166 mm
0USgpn 20 30 40 50 60 70
: | : 1 - 1 I 1 ' | % 1 :
0 0 Imp.g.p.m 10 20 30 40 S0 60
: - 32
L i
- - -
[m - —e8 et
8
-
~ —24
1 T~ \\
6 ~ 20
\\ \;
N — 16
N N
4 ;\\ /60/0\\\
%, \\\ "B NeSH [T 12
N [m) [£)
- 1618
2 L
— NPSH — o8 4
-4
0 0
0 S0 100 150 200 250 QL /min)
| | I | I I |
0 3 6 9 12 15 QLn¥/h)
0.4
[ 1]
P 0.3 160/0. 37
[k
—— - 160/0. 37R
0.2
| =
0.1
0 50 100 150 200 250 QL /min)
0 - | I
T 60 /.L_-—Er
o
— _—
40 r 5 160/0, 37
- 160/0. 37R
30
20
0 S0 100 150 200 250 QL 1/min)
Rotation speed = 1450 min?
Test standard : 1ISO 9906 Annex A
233
EBARA CORPORATION

PM10U



IN-LINE CENTRIFUGAL PUMPS 3E

PERFORMANCE CURVE 50Hz
Rev.B
3E(S) 40-200 4 POLE

40-200/0.55 (0.55 kW) - impeller diameter = 200 mm
40-200/0.75 (0.75 kW) - impeller diameter = 224 mm

OUSgpn 10 15 20 25 30 35 40 45 50 S5 60 65
| | | . | - | ll % ll | T | - | Il %

[ T
0 Imp.g.p. 10 15 20 25 30 35 40 45 S0 55

25
80
H H
[m ~70 (e
20
- 60
— — — —— -
15 — =3 50
P—
— 200/, 75 T~
— -~ - 40
|
10 —
o0 NesH [~ 30
300/0_ 55 T~
~ [m) [F4)
N —
620120
S 5 —
ol dt
NPSH 31010
e — 2_
-5
1_
0 0
0 50 100 150 200 0L /min
| I 1 | | I | I |
0 2 4 6 8 10 12 14 Qln¥/n
0- 8 Ll 1 1
Ps — 200/0. 75
(k- 6
200/0. 55
0,4
0.2
0 50 100 150 200 0L 1/min)
50
|
| 45
(% -—— 200/0, 55
] !
40 = \200/0. 75
35
30
0 50 100 150 200 0L 1/min
Rotation speed = 1450 min?
Test standard : ISO 9906 Annex A
234

g EgAnA EBARA corroration

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

PERFORMANCE CURVE 50Hz
Rev.B
3E(S) 50-125 4 POLE
50-125/0.37 (0.37 kW) - impeller diameter = 140 mm
0USgpn 20 30 40 S0 60 70 80 9 100 110 120 130
| | | 1 1 1 | | | | | 1 | 1
I | I I 1 1 | I | 1 1 1
. 0 Inp. g p. m 20 30 40 S0 60 70 80 90 100 110
~27
H H
[m) [£t)
w7 — 24
-2l
ol m o e B e e e Y
6 Sw
s - 18
4.5 RSN — 15
.
e 12
N NPSH
3 . (m) (1)
- -9
812
6206
LS -
gt
NPSH =103
| e- S
0 1 I
0 S0 100 150 200 250 300 350 400 450 QL[ U/min)
| I I | | I | | | I | | | I |
0 2 4 6 g8 10 12 14 16 18 20 2 24 2 28 Qln¥n
0.6
P2
tand 4
125/0. 37
0.2
0
0 S0 100 150 200 250 300 350 400 450 QL U/min)
65 = =
N €0 pad N
(%) » N
/
55
\‘
N
* 125/0. 37
‘s HENE
0 S0 100 150 200 2s0 300 350 400 450 QL[ U/min)
Rotation speed = 1450 min-!
Test standard : ISO 9906 Annex A
235
EBARA CORPORATION

e Eaana



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

PERFORMANCE CURVE 50Hz
Rev.B
3E(S) 50-160 4 POLE
50-160/0.55 (0.55 kW) - impeller diameter = 166 mm
? U.S g p-m acI)o 4?0 6?0 8?0 10100 1eloo
I 1 1 I | 1
. 0 Imp.g.p.m 200 400 600 800 1000
! - 32
H = H
[m) 28 (et
8 S~
\\ -~
S [~ Cc
\\
6 N - 20
/60
s
2
- 55 N 16
4
NesH |12
[m) [F)
-8 -8
2 ~~ NPSH 2 ¢
—
1—
-2
0 0
0 100 200 300 400 QL /min
| | | | I | |
0 50 100 150 200 250 Qtn¥n
0- 6 T L)
P20.5 _ | 160/0. 55
[kW1O0. 4
/
0.3 et
0.2
0.1
0 100 200 300 400 QL /min
70
n k
/
(%) 60 —
4 160/0. 55
50 ,/
40
0 100 200 300 400 QL /minl
Rotation speed = 1450 min-!
Test standard : ISO 9906 Annex A
236
EBARA CORPORATION



IN-LINE CENTRIFUGAL PUMPS 3E

PERFORMANCE CURVE 50Hz
Rev.B
3E(S) 50-200 4 POLE

50-200/0.75 (0.75 kW) - impeller diameter = 183 mm
50-200/1.1 ( 1.1 kW) - impeller diameter = 200 mm
50-200/1.5 ( 1.5 kW) - impeller diameter = 224 mm

OUSgpmn 20 30 40 50 60 70 80 90 100 110 120 130
| | | | | | | | | | | | | |

I I I l 1 1 | I I l 1 1
. 0 Inp. g p. M 20 30 40 S0 60 70 80 90 100 110
= ad N ,_54
H . H
m 15 - = 5 . [£t)
—~ < 00/1. 5
P P 4 -—
B — -~ 41
12 = S 3 <
E NN < 36
. ™~
9 - 200 ~ - 30
‘Nh*;/O 75 -
-
24
- NPSH
6 ~ (m) (f1)
- 18
815
620112
3 -
gt
2-_ S
0
0 S0 100 150 200 250 300 350 400 450 Q[ U/min)
| I I | 1 | I | 1 | I | | I I |
0 2 4 6 8 10 12 14 16 18 20 2 24 2 28 QLm¥/n
.S
200/1.5
P2 | N
(kW) - 3!0?/!1- !1
0.5 200/0. 75 .
0
0 50 100 150 200 250 300 350 400 450 Q[ U/min)
70 T I TTTTT
n = [ 200/1. 17
. —; ™r—r—
(%
L S 200/1. 5
50 1= 200/0. 75
1
40 =
>
30
0 50 100 150 200 250 300 350 400 450 QL \/minl

Rotation speed = 1450 min-!
Test standard : ISO 9906 Annex A

237
g EgAnA EBARA corroration

PM10U



IN-LINE CENTRIFUGAL PUMPS

3E

PERFORMANCE CURVE 50Hz
Rev.B
3E(S) 65-125 4 POLE
65-125 (0.55 kW) - impeller diameter = 140 mm
0 U.S gpn 40 80 100 120 140 160 180 200
| 1 1 1 | l 1 | 1 |
| 1 I | 1 I I | 1
i 0 Imp.g.p. 40 60 80 100 120 140 160
~32
H H
(m —e8 (et
8
—24
6 - T - — 20
-~
- 55 — 16
4 <
N NPSH | 12
(m) [F1)
] -
NPSH ——1= -8 |-8
e 2--6
-4 |4
l—.
-2
0 0
0 100 200 300 400 500 600 700 QL /min)
| I I | I | | | I | | I |
0 2 4 6 8 10 12 14 16 18 20 22  Qaln¥h
0- 6 l l I l T L) Ll L)
P20.5 125/0. 55
[kN10. 4
0.3
0.2
0.1
0 100 200 300 400 500 600 700 QL /min)
80
|
1] T
60 Sl 12570, 55
S0
40
0 100 200 300 400 S00 600 700 QL U/min)
Rotation speed = 1450 min-!
Test standard : 1ISO 9906 Annex A
238
EBARA CORPORATION

PM10U



IN-LINE CENTRIFUGAL PUMPS

3E

PERFORMANCE CURVE 50Hz
Rev.B
3E(S) 65-160 4 POLE
65-160/0.75 (0.75 kW) - impeller diameter = 154 mm
65-160/1.1 ( 1.1 kW) - impeller diameter = 166 mm
0US gpn 40 60 80 100 120 140 160 180 200
| 1 1 | 1 | l | | 1 |
| | I | I I | |
: 0 Imp.g.p. ™ 40 60 100 120 140 160
— 45
H H
[mli2, 5 e [f1]
- 35
10
p= L] ~ 30
e
_
7.5 T 1T = EREN 25
S~ /1, 7 20
I S N
5 Is0,, 7]\‘ NPSH
9 T em a1
[~
7
2010
2.5 S 15
NPS - M 37103
s
0 I 111 0
0 100 200 300 400 500 600 700 QL /min)
| | | I | I | I | 1 I |
0 4 8 12 16 20 24 28 R 36 40 44  Qln¥n)
1.0
5. 08 ' ! 160/1. 11
e 3
[kN10. 6 - — 160/0. 75
0.4 =
0.2
0
0 100 200 300 400 500 600 700 QL 1/min)
80
M 70
50 Sh 160/1. 11—
N T
40 160/0. 75
30 | I .|
0 100 200 300 400 500 600 700 QL1/min)
Rotation speed = 1450 min?
Test standard : ISO 9906 Annex A
239
EBARA CORPORATION

e Eaana



IN-LINE CENTRIFUGAL PUMPS 3E

PERFORMANCE CURVE 50Hz
Rev.B
3E(S) 65-200 4 POLE

65-200/1.5 (1.5 kW) - impeller diameter = 200 mm
65-200/2.2 (2.2 kW) - impeller diameter = 224 mm

0 U S gp.n 40 60 80 100 120 140 160 180 200
L L 1 | 1 1 L 1 | 1 |
| | I | 1 | I | |
0 Imp.g.p.m 40 60 80 100 120 140 160
20 L
65
H —-60 H
—=--~q
(m)j7.5 —— — [f1]
~—1_ — 55
ny
15 . ~ 50
N 800/‘?8
— L ’ 45
b~ \\
12.5 -
' S — 40
5 A
00/1 N
) AN NPSH |35
10 - ™ (m) [£)
Q\
. 8_—25 — 30
;‘ 6__20
N -
7.5 1 (s S
NPSH — 10
- N |
dH e [20
5
0 100 200 300 400 500 600 700 QL /min)
| | | | | | | | I | 1 I |
0 2 4 6 8 10 12 14 16 18 20 2 Qlmn
2- 5 l ] L) L T
1 [ 200/2. 2 [
P22.0 _ 2{00}2}2_
[kN)L.S — — } 200/1. 5]
1.0 . :
0.5
0
0 100 200 300 400 500 600 700 QL /min)
70
1
L 200/1.5
(% —t— —
50 = T T+
LA | 200/2. 2
40
30
0 100 200 300 400 500 600 700 QL /minl
Rotation speed = 1450 min?
Test standard : ISO 9906 Annex A
240

g EgAnA EBARA corroration

PM10U



IN-LINE CENTRIFUGAL PUMPS

3E

PERFORMANCE CURVE 50Hz
Rev.B
3E(S) 80-160 4 POLE
80-160/1.5 (1.5 kW) - impeller diameter = 168 mm
(IJ U. S. g p. 510 1?0 1'lso eclJo 2?0 3?0 3?0
| 1 I I | | I
. 0 Imp.g.pmn S0 100 150 200 250 300
—.—-—-_~~N 32
b\\
H - H
[m 28 [ty
8 S
\‘
N\ - 24
l
s I
.
6 \\ - 20
16
4
NPSH |-12
[m) [F)
-8 -8
e NPSH 21
—4 (~4
l—
-2
0 0
0 200 400 600 800 1000 1200 QL /min)
| 1 1 1 1 1 | 1 | 3
0 10 20 30 40 50 60 70 Qtn¥/n
1.5 ™T
160/1. 5
4 ]
(
(0 ——
0.5
0
0 200 400 600 800 1000 1200 QL /min
75
n -
o 70 ~
65
€0 7 160/1. 5
55
50
0 200 400 600 800 1000 1200 QL /mind
Rotation speed = 1450 min-!
Test standard : ISO 9906 Annex A
242
EBARA CORPORATION

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

PERFORMANCE CURVE 50Hz
Rev.B
3E(S) 80-200 4 POLE
80-200/2.2 (2.2 kW) - impeller diameter = 201 mm
80-200/3.0 (3.0 kW) - impeller diameter = 212 mm
0 U.S. g p SO 100 150 200 250 300 350
= . 1 . I : | . | 4 % . |
2 0 Imp.gp.mn SO 100 150 200 250 300
- 60
H H
(m 4 [£t)
T 50
a‘\
~ -
‘\\
~ ~J
~J \\00/3 5 L 40
\\
T~
.
2T NG 30
N
AN NPSH
tmd ()]
8 1o
6 =20
o510
=10
NPSH -—— o .
0
0 200 400 600 800 1000 1200 QL 1/min)
| | | | | | | | |
0 10 20 30 40 S0 60 70 QLn¥/h)
3 T L
P> — 200/3. 0
(kW) T || J—e00s2.2
— ]
—=
1
0 200 400 600 800 1000 1200 QL 1/min)
80
n
(% 70
/ \\\ \\
‘\
60 '/ \‘q -
e00/2.2 200/3. 0
\ 3
50 | | L1
0 200 400 600 800 1000 1200 QL 1/min)
Rotation speed = 1450 min?
Test standard : ISO 9906 Annex A
243
EBARA CORPORATION



IN-LINE CENTRIFUGAL PUMPS 3E

PERFORMANCE CURVE 50Hz
Rev.B
3E(S) 100-160 4 POLE

100-160/1.5 (1.5 kW) - impeller diameter = 156 mm
100-160/2.2 (2.2 kW) - impeller diameter =174 mm

0 US.gpmn 100 200 300 400 500
: 1 ' 1 : 1 : || : 1
, 0 Imp.gp.n 100 200 300 400
1
- 160
H H
(m) ~ 140 ey
10—
~~~‘~~’ =~ 120
P —
—_—
‘~\~=- \\
S —— \\ 80
T~ AN
N
¢ ~ N
N 60
A Zen NPSH
55 N 0/8.@ (1)
/./' -
6 —+20 - 40
) T
NPSH — 0
i o g- 10 20
143
2 0
0 300 600 900 1200 1500 1800 0L /min)
| | I | I | |
0 20 40 60 80 100 QLn/h)
3
p | |
[k:] > 160/2, 2
160/1. 5
1
0
0 300 600 900 1200 1500 1800 QCU/mind
90
n
(7% ,45; — et
70 e 160/1. 5 P~
16072, 2
&0 7
50
0 300 600 900 1200 1500 1800 QC/mind
Rotation speed = 1450 min?
Test standard : ISO 9906 Annex A
245

g EgAnA EBARA corroration

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS 3 E
CONSTRUCTION 50Hz

Rev.B
SECTIONAL VIEW DRAWING 3E 32-125,40-160,50-100/125/160,65-100/125,80-100

301
g EgAnA EBARA corroraTion




PM10U

3E

50Hz
Rev.B
SECTIONAL VIEW TABLE 3E 32-125,40-160,50-100/125/160,65-100/125,80-100

IN-LINE CENTRIFUGAL PUMPS
CONSTRUCTION

No PART NAME MATERIAL DIMENSIONS STANDARD TY
1 |Casing Cast iron EN-GJL-250-EN 1561 1
3 [Motor bracket Aluminum AL-EN-1706-AC-46000-D 1
4 |Casing cover EN 1.4301(AlSI 304) 1
6 __[Shaft with rotor - Wet extension EN 1.4301(AISI 304) 1
7 |Impeller EN 1.4301(AISI 304) 1
10 |Baffle EN 1.4301(AISI 304) 1
11 |Mechanical seal [1] 1
12 |Motor frame with stator - 1
13 |Motor cover Aluminum 1
14 |Fan PA 1
15 |Fan cover Fe P04 Galvanized 1
16 [Terminal - 1
17 |Terminal box cover Aluminum (three phase version) 1
) [Up to 0.75 kw 25x14.5x2.5
18 |[Splash ring [From 1.1 10 4 KW 20x21 5x2 EBARA DRAWING 1
19 [Bearing [3] . 1
20 [Bearing [3] . 1
21 |Adjusting ring Steel C70 1
22 [Tie rod I‘L‘Ji\;\? S kW Fe 42 Galvanized mg EBARA DRAWING 4
24 |Plug Brass Gl/4 2
25 |Drain plug Brass Gl/4 4
32-125,50-100,50-125,65-
26 |0-ring 100,80-100 EPDM 2] 158.11x5.34 OR 6625 1
40-160, 50-160, 65-125 183.52x5.34 OR 6720
Up to 0.75 kW 4x4x14
32 |Key From L1104 kKW EN 1.4401(AISI 316) ExBx22 UNI 6604 1
Up to 0.75 kW M10x1.25
34 (Impeller nut From L1 to kW EN 1.4301(AlSI 304) M16x15 UNI 7474 1
56 [Box gasket NBR 1
58 [Cable gland - 1
Up to 0.75 kW 15x30x5
92 |Lip seal For 1.1 to 3 kW 25x40x7 DIN 3760 without spring 1
4 kKW 30x47X7
Up to 0.75 kW 15x30x5
93 |Lip seal For 1.1 to 2.2 kKW 17x32x6 DIN 3760 without spring 1
From 3 to 4 kW 25x40x7
32-125,50-100,65-100 M6x25 8
200 [Screw 50-125,80-100 Guv. Steel 8.8 strength class 1ISO 898-1 M 8x30 UNI 5739
40-160,50-160,65-125 M10x35 10
32-125,50-100,65-100 6.4x12.5 8
235 |Washer 50-125,80-100 Galvanized Steel 8.4x17 UNI 6592
40-160,50-160,65-125 10.5x21 10
[1] See MECHANICAL SEAL pages
[2] FPM for QLAVGG,Q4Q1VGG
EPDM for QLAEGG,Q4Q1EGG
[3] See BEARING Pages
302

E m E BARA CORPORATION



PM10U

IN-LINE CENTRIFUGAL PUMPS 3 E

CONSTRUCTION 50Hz
Rev.B

SECTIONAL VIEW DRAWING 3E 40-200,65-160

303
g EgAnA EBARA corroraTion




PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

CONSTRUCTION 50Hz
Rev.B
SECTIONAL VIEW TABLE 3E 40-200,65-160
No PART NAME MATERIAL DIMENSIONS STANDARD Q.TY
1 |Casing Cast iron EN-GJL-250-EN 1561 1
3 [Motor Bracket Aluminum AL-EN-1706-AC-46000-D 1
4 |Casing cover EN 1.4301(AISI 304) 1
6 [Shaft with rotor - Wet extension EN 1.4301(AISI 304) 1
7 _|Impeller EN 1.4301(AlSI 304) 1
11 |Mechanical seal [1] 1
12 |Motor frame with stator - 1
13 |Motor cover Aluminum 1
14 |Fan PA 1
15 |Fan cover Fe P04 Galvanized 1
16 [Terminal - 1
17 |Terminal box cover Aluminum (three phase version) 1
18 |Splash ring 40x21.5x2 EBARA DRAWING 1
19 |Bearing [3] . 1
20 [Bearing [3] . 1
21 |Adjusting ring Steel C70 1
22 [Tie rod ir';\’mv TS A Fe 42 Galvanized mg EBARA DRAWING 4
24 |Plug gg:igg Brass G 1/4 >
25 |Drain plug Brass G 1/4 4
26 |O-ring EPDM [2] 227.96x5.34 OR 6895 1
32 [Key EN 1.4401(AISI 316) A 6x6x25 UNI 6604 1
34 |Impeller nut EN 1.4301(AISI 304) M16x1.5 UNI 7474 1
56 [Box gasket NBR 1
58 [Cable gland - 1
72 |Casing ring EN 1.4301 (AISI 304) 1
. BkW 25x40x7 . .
92 [Lip seal From 410 7.5 KW 30xATXT DIN 3760 without spring 1
. Up to 4 kW 25x40x7 . .
93 |Lip seal From 5510 7.5 KW 20xA7XT DIN 3760 without spring 1
200 |Screw Gv. Steel 8.8 strength class ISO 898-1 M10x35 12
235 |Washer Galvanized Steel 10.5x21 UNI 6592 12
[1] See MECHANICAL SEAL pages
[2] FPM for QLAVGG,Q4Q1VGG
EPDM for Q1AEGG,Q4Q1EGG
[3] See BEARINGS pages
304

EdARA

E BARA CORPORATION



PM10U

IN-LINE CENTRIFUGAL PUMPS 3 E

CONSTRUCTION 50Hz
Rev.B

SECTIONAL VIEW DRAWING 3E 50-200,65-200,80-160/200,100-160

200

235
3

25

305
g EgAnA EBARA corroraTion




PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

CONSTRUCTION 50Hz
Rev.B
SECTIONAL VIEW TABLE 3E 50-200,65-200,80-160/200,100-160
No PART NAME MATERIAL DIMENSIONS STANDARD Q.TY
1 |Casing Cast iron EN-GJL-250-EN 1561 1
3 [Motor bracket Aluminum AL-EN-1706-AC-46000-D 1
4 |Casing cover [4] EN 1.4301(AISI 304) 1
6 __[Shaft with rotor - Wet extension EN 1.4301(AISI 304) [5] 1
7 |impeller [6] EN 1.4301(AISI 304) 1
11 |Mechanical seal [1] 1
12 |Motor frame with stator - 1
13 |Motor cover Aluminum 1
14 |Fan PA 1
15 |Fan cover Fe P04 Galvanized 1
16 [Terminal - 1
17 [Terminal box cov|er Aluminum (three phase version) 1
. Up to11kW 40x21.5x2
18 |[Splash ring 15 W and above 50x29 5x3 EBARA DRAWING 1
19 [Bearing [3] . 1
20 [Bearing [3] . 1
21 |Adjusting ring Steel C70 1
22 [Tie rod IES: 3._2?651_ 11'\35ka Fe 42 Galvanized mg EBARA DRAWING 4
24 [Plug Brass G1/4 2
. 50-200 4
25 |[Drain plug IOther models Brass G 1l/4 2
26 |O-ring EPDM [2] 227.96x5.34 OR 6895 1
50-200,65-200,80-160/9.2,80-
32 [Key 160/11 EN 1.4401(AlSI 316) A 6x6x25 UNI 6604 1
80-160/15,80-200,100-160 A 8x7x30
50-200,65-200/9.2,65-
200/11,80-160/9.2,80-160/11 M16x1.5
34 |Impeller nut 65-200/15 EN 1.4301(AISI 304) M18xL5 UNI 7474 1
80-160/15,80-200,100-160 M20x1.5
56 |Box gasket NBR 1
58 [Cable gland - [7]
72 |Casing ring [10] EN 1.4301 (AISI 304) 1
From 5.5 kW to 7.5 kW 30x47X7
92 |Lip seal From 9.2 to 11 40x55x7 DIN 3760 without spring 1
From 15kW to 22kW 45x60x7
From 5.5 kW to 7.5 kW 30x47X7
93 [Lip seal From 9.2to 11 40x55x7 DIN 3760 without spring 1
From 15kW to 22kW 45x60x7
101 [Snap ring [8] Carbon tool steels TC 80 240 UNI 7435 1
200 |Screw Gv. Steel 8.8 strength class ISO 898-1 M10x35 12
206 |Screw for Bracket [9]] Gv. Steel 8.8 strength class ISO 898-1 M10x40 UNI 5739 4
235 |Washer Galvanized Steel 10.5x21x2 UNI 6592 12

(7]

(8]
(9]
(20]

See MECHANICAL SEAL pages

FPM for QLAVGG,Q4Q1VGG

EPDM for Q1AEGG,Q4Q1EGG

See BEARINGS pages
EN1.4404(AISI316L) for 100-160
EN1.4404(AISI1316L) for 100-160

EN 1.4301 (AISI 304) for 50-200,65-200,

EN 1.4401(AlSI 316) for 80 series, EN 1.4404(AIS| 316L) for 100-160

1 for pumps with motor up to 11 kW
2 for pumps with 15 kW motor and above
Only for pumps with 9.2 and 11 kW motor

Only for pumps with 15 kW motor and above

Only for 50-200, 65-200/9.2, 65-200/11

306

e Eaana

EBARA CORPORATION



IN-LINE CENTRIFUGAL PUMPS 3 E

CONSTRUCTION 50Hz
Rev.B

SECTIONAL VIEW DRAWING 3ES 32-125,40-160,50-100/125/160,65-100/125,80-100

TT u 58
) -
il Pl
WAL
[
806//\gj\jj

]
| |
ﬂ-\DIIU-III\

S [onngT

-
|
T

26—HIH—9 (]
4— p—
0 +— ﬁw

307
g EgAnA EBARA corroraTion

PM10U



PM10U

3E

50Hz
Rev.B

IN-LINE CENTRIFUGAL PUMPS
CONSTRUCTION

SECTIONAL VIEW TABLE 3ES 32-125,40-160,50-100/125/160,65-100/125,80-100

No PART NAME MATERIAL DIMENSIONS STANDARD QTY
1 [Casing Cast iron EN-GJL-250-EN 1561 1
3 |Motor bracket [3] Cast iron EN-GJL-200-EN 1561 1
4 |Casing cover EN 1.4301(AISI 304) 1
6 |Coupling - Wet extensions [4] EN 1.4301(AISI 304) 1
7 _|impeller EN 1.4301(AISI 304) 1
10 |Baffle EN 1.4301(AISI 304) 1
11 |Mechanical seal [1] 1
12 |Motor 1
24 |Priming plug Brass G 1l/4 2
25 |Draining plug Brass G 1/4 4
32-125,50-100,50-125,65-

26 [0-ring 100,80-100 EPDM [2] 158.11x5.34 OR 6625 1
40-160,50-160,65-125 183.52x5.34 OR 6720
32-125,50-100 4x4x14

32 [Key 40-160,50-125,50-160,65- EN 1.4401(AISI 316) 6x6x22 UNI 6604 1
100,65-125,80-100

34 |Impeller nut EN 1.4301(AISI 304) M16x1.5 UNI 7474 1

44 |Protection EN 1.4301(AISI 304) EBARA DRAWING 2
32-125,50-100,65-100 M6x25 8

200 |Screw 50-125,80-100 Guv. Steel 8.8 strength class ISO 898-1 M8x30 UNI 5739
40-160, 50-160,65-125 M10x35 10

206 [SCTeW for gﬁ"t\g:m‘z"w Gv. Steel 8.8 strength class SO 898-1 mgigg UNI 5739 4
50-100, 65-100 6.4x12.5 8

235 |Washer 32-125,50-125,80-100 Galvanized Steel 8.4x17 UNI 6592
40-160,50-160,65-125 10.5x21 10

[1] See MECHANICAL SEAL pages

[2] FPM for Q1AVGG,Q4Q1VGG

EPDM for QLAEGG,Q4Q1EGG
[38] Castiron EN-GJL-200-EN 1561 for motor of 0.75kW
Aluminum AL-EN-1706-AC-46000-D for motor of 1.1 to 4kW
[4] See 3ES COUPLING page
308

E BARA CORPORATION

e Eaana



IN-LINE CENTRIFUGAL PUMPS 3 E

CONSTRUCTION 50Hz
Rev.B

SECTIONAL VIEW DRAWING 3ES 40-200,65-160

|
| \\\\\\\%‘\\\~ 12 58
| | _ |
- ‘ | il o — S
| O O
BN -
,,,,,‘,,,,,
|
aoeﬁ\\\\\\\jﬂix [ ] i | [
3 |
6ﬁ\\\\\\\iji | y P06-2
44 = ERIETNE
I ] e
1] — \ e Sl \
| | - 235
o6 — g
5&:377 % s
34— w
; — | Cf/////];J
i
309

g EgAnA EBARA corroraTion

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

CONSTRUCTION 50Hz
Rev.B
SECTIONAL VIEW TABLE 3ES 40-200,65-160

No PART NAME MATERIAL DIMENSIONS STANDARD QTY
1 |Casing Cast iron EN-GJL-250-EN 1561 1
3 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
3A |Adapter ring [4] Cast iron EN-GJL-200-EN 1561 1
4 |Casing cover EN 1.4301(AISI 304) 1
6 |Coupling - Wet extensions [3] EN 1.4301(AISI 304) 1

7 |impeller EN 1.4301(AISI 304) 1
11 |Mechanical seal [1] 1
12 |Motor 1
. 40-200 -

24 |Priming plug 55-160 Brass G l/4 >
25 |Draining plug Brass G1l/4 4
26 |O-ring EPDM [2] 227.96x5.34 OR 6895 1
32 |Key EN 1.4401(AISI 316) 6x6x25 UNI 6604 1
34 |impeller nut EN 1.4301(AISI 304) M16x1.5 UNI 7474 1
44 |Protection EN 1.4301(AISI 304) EBARA DRAWING 2
72 |Casing ring EN 1.4301(AISI 304) 1
200 |Screw Gv. Steel 8.8 strength class 1SO 898-1 M 10x35 12
206 |Screw for bracket Gv. Steel 8.8 strength class 1ISO 898-1 M12x30 UNI 5739 4
206-2|Screw for adapter ring [4] |Gv. Steel 8.8 strength class ISO 898-1 M12x20 UNI 5931 4
235 |Washer Galvanized Steel 10.5x21 UNI 6592 12

[1] See MECHANICAL SEAL pages

(2]

FPM for Q1AVGG,Q4Q1VGG
EPDM for Q1AEGG,Q4Q1EGG

[3] See 3ES COUPLING page

[4] Only for 80-125

310

e Eaana

EBARA CORPORATION



IN-LINE CENTRIFUGAL PUMPS 3 E

CONSTRUCTION 50Hz
Rev.B

SECTIONAL VIEW DRAWING 3ES 50-200,65-200,80-160/200,100-160

G
0

\
206
e
iy i | =2 :
) nl [=H ||z 0 7o
= = i 200
el II SilE " g 24
1 i N s =5 1S \au |
\ .“- /_,—.' ] ‘
26 -"‘ S\w="THn 7 1
‘ ‘"‘.i 1 H%L)H > ol 835
S D DU I S 7 | | = e
—ler— .
1 ' - — | /
7 —1 |
34 i i
|

311
g EgAnA EBARA corroraTion

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

CONSTRUCTION 50Hz
Rev.B
SECTIONAL VIEW TABLE 3ES 50-200,65-200,80-160/200,100-160
No PART NAME MATERIAL DIMENSIONS STANDARD |Q.TY

1 |[Casing Cast iron EN-GJL250-EN 1561 1

3 [Motor bracket Cast iron EN-GJL-200-EN 1561 1

4 |Casing cover [3] EN 1.4301(AlSI 304) 1

6 |Coupling - Wet extensions [4] EN 1.4301(AlSI 304) [5] 1

7 _|Impeller [6] - 1

11 |Mechanical seal [1] 1

12 |Motor 1

24 |Priming plug Brass G 1/4 2

. 50-200 4

25 |Drain plug Other models Brass G 1/4 >

26 |O-ring EPDM [2] 227.96x5.34 OR 6895 1
50-200,65-200,80-160/9.2,80- 6X6X25

32 |Key 160/11 EN 1.4401(AISI 316) UNI 6604 1
80-160/15,80-200,100-160 8x7x30
Up to11kwW [7] M16x1.5

34 (Impeller nut 65-200/15 EN 1.4301(AISI 304) M18x1.5 UNI 7474 1
15 kW and above M20X1.5

44 |Protection EN 1.4301(AISI 304) EBARA 2

72 |Casing ring [8] EN 1.4301(AlSI 304) 1

200 |Screw Gv. Steel 8.8 strength class 1ISO 898-1 M10x35 UNI 5739 12
From 5.5kW to 9.2kW M12x30

206 |Screw for bracket |From 11kW to 18.5kW Gv. Steel 8.8 strength class 1ISO 898-1 M16x35 UNI 5739 4
From 22kW to 37kW [9] M16x45

235 |Washer Galvanized Steel 10.5x21 UNI 6592 12

[1] See MECHANICAL SEAL pages
[2] FPM for Q1IAVGG,Q4Q1VGG

EPDM for Q1AEGG,Q4Q1EGG

[3] EN 1.4404 (AISI 316L) for 100 series

[4] See 3ES COUPLING page

[5] EN 1.4404 (AISI 316L) for 100 series

[6] EN 1.4301(AISI 304) for 50,65 series;
EN 1.4401(AISI 316) for 80 series, EN 1.4404(AlSI 316L) for 100 series

[7] Except for 100-160/11kW :M20x1.5

[8] Only for: 65-200

[9] Except for 80-200/22: M16x35

312

e Eaana

EBARA CORPORATION



IN-LINE CENTRIFUGAL PUMPS 3 E

CONSTRUCTION 50Hz
Rev.B
SECTIONAL VIEW DRAWING 3E4 32-160,40-160,50-125/160,65-125

14 | 15
95M 13
) ==
(A0 =3 ”
- m/iiln 1 E—]
o —— 1]
. HN ! 22
siRHA .
.
e 92
10 UU | L] "
Al 15 200
e 24

313
g EgAnA EBARA corroraTion

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

CONSTRUCTION

50Hz

Rev.B

SECTIONAL VIEW TABLE 3E4 32-160,40-160,50-125/160,65-125

No PART NAME MATERIAL DIMENSIONS STANDARD QTY
1 |Casing Cast iron EN-GJL-250-EN 1561 1
3 |Motor bracket Aluminum AL-EN-1706-AC-46000-D 1
4 |Casing cover EN 1.4301(AISI 304) 1
6 Eﬁfdt with rotor-Part in contact with EN 1.4301 (AISI 304) 1
7 |lmpeller EN 1.4301(AlSI 304) 1
10 |Baffle EN 1.4301(AlSI 304) 1
11 |Mechanical seal [1] 1
12 [Motor frame with stator - 1
13 |[Motor cover Aluminum 1
14 [Fan PA 1
15 |Fan cover Fe P04 Galvanized 1
16 [Terminal 1
17 [Terminal box cover Aluminum (three phase version) 1
18 |Splash ring NBR 40x21.5x2 EBARA DRAWING| 1
19 [Bearing [3] . 1
20 |Bearing [3] . 1
21 |Adjusting ring Steel C70 1
22 [Tie rod Fe 42 Galvanized M5 EBARA DRAWING| 4
24 |Plug Brass G1/4 DIN 906 2
25 |Drain plug Brass G1/4 DIN 906 4
. 50-125 158.11x5.34 OR 6625

26 [0-ring Other models EPDM [2] 183.52x5.34 OR 6720 L
32 [Key EN 1.4401 (AISI 316) 6x6x22 UNI 6604 1
34 |Impeller nut EN 1.4301(AISI 304) M16x1.5 UNI 7474 1
56 [Box gasket NBR 1
58 |Fasting nut 1
92 |Lip seal . 25x40x7 DIN 3760 1

without spring
. 50-125 15x30x5 DIN 3760
93 |Lip seal Other models ) 17x32X7 without spring 1
50-125 M8x30 8
200|Screw Other models Gv. Steel 8.8 strength class ISO 898/1 M10x35 UNI 5739 10
50-125 . 8.4x17 8

235|Washer Other models Galvanized Steel 10 5x21 UNI 6592 10

[1] See MECHANICAL SEAL page

[2] FPM for Q1IAVGG,Q4Q1VGG

EPDM for Q1AEGG, Q4Q1lEGG
[3] See BEARING pages

e Eaana

EBARA CORPORATION



IN-LINE CENTRIFUGAL PUMPS 3 E

CONSTRUCTION 50Hz
Rev.B
SECTIONAL VIEW DRAWING 3E4 100-160
15 93
M- / 21
/ 20

B ] — 56 16 17 58

315
g EgAnA EBARA corroraTion

PM10U



3E

50Hz
Rev.B

IN-LINE CENTRIFUGAL PUMPS
CONSTRUCTION

SECTIONAL VIEW TABLE 3E4 100-160

PM10U

No PART NAME MATERIAL DIMENSIONS STANDARD | QTY
1 |Casing Cast iron EN-GJL-250-EN 1561 1
3 |Motor bracket Aluminum AL-EN-1706-AC-46000-D 1
4 |Casing cover EN 1.4404 (AISI316L) 1
6 [Shaft with rotor EN 1.4404(AlSI316L) -Part in contact with liquid 1
7 |Impeller EN 1.4404 (AISI316L) 1
10 |Baffle EN 1.4301(AlSI 304) 1
11 |Mechanical seal [1] 1
12 |Motor frame with stator - 1
13 |Motor cover Aluminum 1
14 |Fan PA 1
15 |[Fan cover Fe P04 Galvanized 1
16 (Terminal - 1
17 [Terminal box cover Aluminum 1
19 |Bearing [3] - 1
20 [Bearing [3] - 1
21 |Adjusting ring Steel C70 1
22 [Tie rod ;2 Ew Fe 42 Galvanized mg 4
24 Plug Brass G1/4 EPE DRAWING | 2
25 |[Drain Plug Brass G1/4 EPE DRAWING | 2
26 |O-ring EPDM [2] 227.96x5.34 OR 6895 1
32 [Key EN 1.4404 (AISI316L) 6x6x22 UNI 6604 1
34 |Impeller nut EN 1.4404 (AISI 316L) M16X1.5 UNI 7474 1
56 [Box gasket NBR 1
58 [Fasting nut - 1
. 1.5 kw 25x40x7
92 |Lip seal 2.2 kKW 30x47x7 Wiaxzsgﬂg !
93 |Lip seal - 25x40x7 1
200 |Screw Gv. Steel 8.8 strength class ISO 898/1 M10x35 UNI 5739 12
235 |Washer Galvanized Steel 10.5x21 UNI 6592 12
[1] See MECHANICAL SEAL page
[2] FPM for Q1AVGG,Q4Q1VGG
EPDM for Q1AEGG, Q4Q1EGG
[3] See BEARING Pages
316

EBARA CORPORATION




IN-LINE CENTRIFUGAL PUMPS 3 E

CONSTRUCTION 50Hz
Rev.B

SECTIONAL VIEW DRAWING 3E4 32-200,40-200,65-160

14 | 15
93 | 13
21 - |
i i .
12 i | 101
6 I |
i | i 22
Y o]
i | | 19
Syl 92
UU | U I 8
79 [ 1 @T g 200
=il usn: N V1
ZGﬂﬁE - N
\ = . ‘ 235
‘- A
,,,,,,,,,, — h— T L
32 - (
34 1=
w i / 05
\ C

317
g EgAnA EBARA corroraTion

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

CONSTRUCTION

50Hz

Rev.B

SECTIONAL VIEW TABLE 3E4 32-200,40-200,65-160

No PART NAME MATERIAL DIMENSIONS | STANDARD |[QTY
1 |Casing Cast iron EN-GJL-250-EN 1561 1
3 |Motor bracket Aluminum AL-EN-1706-AC-46000-D 1
4 |Casing cover EN 1.4301(AISI 304) 1
6 |Shaft with rotor-Part in contact with liquid EN 1.4301(AISI 304) 1
7 |Impeller EN 1.4301(AISI 304) 1
11 |[Mechanical seal [1] 1
12 [Motor frame with stator - 1
13 |Motor cover Aluminum 1
14 [Fan PA 1
15 |[Fan cover Fe P04 Galvanized 1
16 [Terminal 1
17 [Terminal box cover Aluminum (three phase version) 1
18 |Splash ring NBR 40x21.5x2 |EBARA DRAWIN| 1
19 |Bearing [3] 1
20 |Bearing [3] 1
21 |Adjusting ring Steel C70 1
22 [Tie rod Fe 42 Galvanized M5 EBARA 4
24 |Plug Brass Gl/4 DIN 906 2
25 |Drain plug Brass Gl1/4 DIN 906 4
26 |O-ring EPDM [2] 227.96x5.34 OR 6895 1
32 |[Key EN 1.4401(AlSI 316) 6x6x25 UNI 6604 1
34 |Impeller nut EN 1.4301(AISI 304) M16x1.5 UNI 7474 1
56 |Box gasket NBR 1
58 |Fasting nut 1
72 |Casing ring (not for 80 version) [4] EN 1.4301 (AISI 304) 1
. DIN 3760
92 |Lip seal 25x40x7 . : 1
without spring
. 0.55kW 17x32X7 DIN 3760
93 |Lip seal From 0.75 kW to 1 kW 25x40x7 without spring 1
200|Screw Gv. Steel 8.8 strength class ISO 898/1 M10x35 UNI 5739 12
235|Washer Galvanized Steel 10.5x21 UNI 6592 12

[1] See MECHANICAL SEAL page
[2] FPM for Q1AVGG,Q4Q1VGG

EPDM for Q1AEGG, Q4Q1EGG

[3] See BEARING Pages
[4] For Version 32-200,40-200,65-160

318

e Eaana

EBARA CORPORATION



PM10U

IN-LINE CENTRIFUGAL PUMPS 3 E

CONSTRUCTION 50Hz
Rev.B

SECTIONAL VIEW DRAWING 3E4 50-200,65-200,80-160/200

319
g EgAnA EBARA corroraTion




PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

CONSTRUCTION 50Hz
Rev.B
SECTIONAL VIEW TABLE 3E4 50-200,65-200,80-160/200
No PART NAME MATERIAL DIMENSIONS STANDARD QTY
1 |Casing Cast iron EN-GJL-250-EN 1561 1
3 |Motor bracket Aluminum AL-EN-1706-AC-46000-D 1
4 |Casing cover EN 1.4301(AISI 304) 1
6 ﬁthig with rotor-Part in contact with EN 1.4301(AISI 304) 1
7 lmpeller 50-200,65-200 EN 1.4301(AISI 304) 1
P 80-160,80-200 EN 1.4401(AlSI 316)
11 |Mechanical seal [1] 1
12 |Motor frame with stator - 1
13 |Motor cover Aluminum 1
14 |Fan PA 1
15 |Fan cover Fe P04 Galvanized 1
16 [Terminal 1
17 |[Terminal box cover Aluminum (three phase version) 1
18 |Splash ring NBR 40x21.5x2 |EBARA DRAWING| 1
19 |Bearing [3] 1
20 [Bearing [3] 1
21 |Adjusting rin Steel C70 1
} Up to 1.5 kW . M5
22 [Tie rod From 2.2 10 3 KW Fe 42 Galvanized M6 EBARA DRAWING| 4
24 |Plug Brass Gl/4 DIN 906 2
. 50-200 4
25 |Drain plug Other models Brass G1/4 DIN 906 >
26 |O-ring EPDM [2] 227.96x5.34 OR 6895 1
32 [Key EN 1.4401(AISI 316) 6x6Xx25 UNI 6604 1
50-200,65-200/1.5,80- M16x1.5
34 |Impeller nut |160,80-200 EN 1.4301 (AISI 304) ) DIN 985 1
65-200/2.2 M18x1.5
56 |Box gasket NBR 1
58 |Fasting nut 1
72 |Casing ring (not for 80 version) [4] EN 1.4301 (AISI 304) 1
. Up to 1.5 kW } 25x40x7 DIN 3760
92 Lipseal  Eom 2210 3KkW 30x47X7 without spring | *
93 |Lip seal - 25x40x7 DIN 3760 1
without spring
200|Screw Gv. Steel 8.8 strength class ISO 898/1 M10x35 UNI 5739 12
235|Washer Galvanized Steel 10.5x21 UNI 6592 12
[1] See MECHANICAL SEAL page
[2] FPM for Q1AVGG,Q4Q1VGG
EPDM for Q1AEGG, Q4Q1EGG
[3] See BEARING Pages
[4] For Version 50-200,65-200

e Eaana

EBARA CORPORATION




IN-LINE CENTRIFUGAL PUMPS 3 E

CONSTRUCTION 50Hz
Rev.B

SECTIONAL VIEW DRAWING 3ES4 50-160,65-125

—
f
\\W)/

—

@n)
N>

e | S [ |

RS T

323
g EgAnA EBARA corroraTion

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS 3E

CONSTRUCTION 50Hz
Rev.B

3ES4 50-160, 65-125 SECTIONAL VIEW TABLE

No PART NAME MATERIAL DIMENSIONS STANDARD QTY
1 |Casing Cast iron EN-GJL-250-EN 1561 1
3 |Motor bracket Cast iron EN-GJL-200-EN 1561 1
4 |Casing cover EN 1.4301 (AISI 304) 1
6 |Coupling - Part in contact with liquid EN 1.4301 (AISI 304) 1
7 |Impeller EN 1.4301 (AISI 304) 1
10 |Baffle EN 1.4301 (AISI 304) 1
11 |[Mechanical seal 1] 1
12 [Motor 1
24 |Plug Brass G1l/4 DIN 906 2
25 |Drain plug Brass G1l/4 DIN 906 4
26 |O-ring EPDM[2] 183.52x5.34 OR 6720 1
32 |[Key EN 1.4401 (AISI 316) 6x6x22 UNI 6604 1
34 |impeller nut EN 1.4301(AISI 304) M16x1.5 DIN 985 1
44 |Protection EN 1.4301 (AISI 304) EBARA DRAWING| 2
200(Screw Gv. Steel 8.8 strength class ISO 898/1 M10x35 UNI 5739 10
206|Screw Gv. Steel 8.8 strength class ISO 898/1 M10x25 UNI 5739 4
235|Washer Galvanized Steel 10.5x21 UNI 6592 10

[1] See MECHANICAL SEAL page
[2] FPM for QIAVGG
EPDM for Q1AEGG, Q4Q1EGG

324
g EgAnA EBARA corroration




PM10U

IN-LINE CENTRIFUGAL PUMPS 3 E

CONSTRUCTION 50Hz
Rev.B

SECTIONAL VIEW DRAWING 3ES4 100-160

[T LN

&2 @]

325
g EgAnA EBARA corroraTion




PM10U

IN-LINE CENTRIFUGAL PUMPS 3E

CONSTRUCTION 50Hz
Rev.B

SECTIONAL VIEW TABLE 3ES4 100-160

No PART NAME MATERIAL DIMENSIONS STANDARD QTY
1 [Casing Cast iron EN-GJL-250-EN 1561 1
3 |Motor bracket Aluminum AL-EN-1706-AC-46000-D 1
4 |Casing cover EN 1.4404 (AISI316L) 1
6 |Coupling EN 1.4404 (AISI316L) 1
7 |Impeller EN 1.4404 (AISI316L) 1
10 |Baffle EN 1.4301 (AISI304) 1
11 |[Mechanical seal [1] 1
12 |Motor - 1
24 |Plug Brass Gl/4 EPE DRAWING 2
25 |Drain Plug Brass G1/4 EPE DRAWING 2
26 |O-ring EPDM (E option) [2] 227.96x5.34 OR 6895 1
32 |Key EN 1.4401 (AISI316) 6x6x22 UNI 6604 1
34 |Impeller nut EN 1.4404 (AISI316L) M16x1.5 DIN 985 1
44 |Protection EN 1.4301 (AISI304) EPE DRAWING 2
200 |Screw Gv. Steel 8.8 strength class ISO 898/1 M10x35 ISO 4017 12
235 |Washer Galvanized Steel 10.5x21 UNI 6592 12
[1] See MECHANICAL SEAL page
[2] FPM for Q1AVGG,Q4Q1VGG

EPDM for QLAEGG, Q4Q1EGG

326
g EgAnA EBARA corroration




PM10U

IN-LINE CENTRIFUGAL PUMPS 3 E

CONSTRUCTION 50Hz
Rev.B

SECTIONAL VIEW DRAWING 3ES4 32-200,40-200,65-160

|
|
|
= 58
I ‘ LT ] \\ .
0]
Z ‘ _ B
|
N UTRLELLELY
P06 L] ; 1]
3A \mﬁ | [
6 | | | 206-2
44 =l | ||=0 [
3 | SUENIE %TBOO
11— J]I = Elinl |
| | 1 235
cH —— B
sj 7/7 777777 H % =/ | o5
L w
/ |
: =l
329

g EgAnA EBARA corroraTion



PM10U

IN-LINE CENTRIFUGAL PUMPS 3E

CONSTRUCTION 50Hz
Rev.B
SECTIONAL VIEW TABLE 3ES4 32-200,40-200,65-160
No PART NAME MATERIAL DIMENSIONS STANDARD [QTY
1 [Casing Cast iron EN-GJL-250-EN 1561 1
3 |Motor bracket [3] 1
4 |Casing cover EN 1.4301 (AISI 304) 1
6 |Coupling - Part in contact with liquid EN 1.4301 (AISI 304) 1
7 |impeller EN 1.4301 (AISI 304) 1
11 |Mechanical seal [1] 1
12 [Motor 1
40-200 -
24 Plug Other models Brass Gl/4 DIN 906 >
25 |Drain plug Brass Gl/4 DIN 906 4
26 |O-ring EPDM [2] 227.96x5.34 OR 6895 1
32 |[Key EN 1.4401(AISI 316) 6x6x25 UNI 6604 1
34 |impeller nut EN1.4301(AlSI 304) M16x1.5 UNI 7474 1
44 |Protection EN 1.4301 (AISI 304) EBARA DRAWING| 2
72 |Casing ring EN 1.4301 (AISI 304) 1
200(Screw Gv. Steel 8.8 strength class ISO 898/1 M10x35 UNI 5739 12
206|Screw Gv. Steel 8.8 strength class ISO 898/1 M10x25 UNI 5739 4
235|Washer Galvanized Steel 10.5x21 UNI 6592 12

[1] See MECHANICAL SEAL page

[2] FPM for Q1AVGG,Q4Q1VGG
EPDM for Q1AEGG, Q4Q1EGG

[3] Castiron EN-GJL-200-EN 1561 for motor of 0.75kW
Aluminum AL-EN-1706-AC-46000-D for motor of 1.1kW

330
g EgAnA EBARA corroration




IN-LINE CENTRIFUGAL PUMPS 3 E

CONSTRUCTION 50Hz
Rev.B

SECTIONAL VIEW DRAWING 3ES4 50-200,65-200,80-160/200

o8

T@j
-

\\X\ \ \ /J//
206 X Z
6 ——— - 3
444W I ; =] 72
AN VA ~
S S A s
] ) ’lf —— BN | N>
1 25
/ ]
34

331
g EgAnA EBARA corroraTion

PM10U



IN-LINE CENTRIFUGAL PUMPS 3E

CONSTRUCTION 50Hz
Rev.B

SECTIONAL VIEW TABLE 3ES4 50-200,65-200,80-160/200

No PART NAME MATERIAL DIMENSIONS| STANDARD  |QTY
1 |Casing Cast iron EN-GJL-250-EN 1561 1
3 |Motor bracket [3] 1
4 |Casing cover EN 1.4301 (AISI 304) 1
6 [Coupling - Part in contact with liquid EN 1.4301 (AISI 304) 1
7 limpeller 50-200,65-200 EN 1.4301 (AISI 304) 1
80-160.80-200 EN 1.4401 (AISI 316)

11 |Mechanical seal [1] 1
12 |Motor 1
24 |Plug Brass Gl1/4 DIN 906 2
25 |Drain plug Brass G1/4 DIN 906 4
26 |O-ring EPDM [2] 227.96x5.34 OR 6895 1
32 |[Key EN 1.4401 (AISI316) 6x6x25 UNI 6604 1
34 |impeller nut EN1.4301 (AISI 304) M16x1.5 DIN 985 1
44 |Protection EN 1.4301 (AISI304) EBARA DRAWING| 2
72 |Casin gring(not for 80 version)  [4] EN 1.4301 (AISI 304) 1
200(Screw Gv. Steel 8.8 strength class ISO 898/1 M10x35 UNI 5739 12
206|Screw Ig‘;';ggié%ﬁkw Gv. Steel 8.8 strength class ISO 898/1 mgigg UNI 5739 4
235|Washer Galvanized Steel 10.5x21 UNI 6592 12

[1] See MECHANICAL SEAL page

[2] FPM for QIAVGG,Q4Q1VGG

EPDM for Q1AEGG, Q4Q1EGG
[38] Castiron EN-GJL-200-EN 1561 for motor of 0.75kW
Aluminum AL-EN-1706-AC-46000-D for motor of 1.1kW
[4] Only for version 50-200, 65-200
332

g EgAnA EBARA corroration

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS 3E

CONSTRUCTION 50Hz
Rev.B

BEARINGS 3E 2POLE

Ball bearing

Pump type
PP Pump side Fan side

3E 32-125/0.37
3E 32-125/0.55 6203 6202
3E 32-125/0.75
3E 40-160/1.1
3E 40-160/1.5 6203

6205
3E 40-160/2.2
3E 40-200/3.0
3E 40-200/4.0 6206 6205
3E 40-200/7.5 6306 6206
3E 50-100/0.37
3E 50-100/0.55 6203 6202
3E 50-100/0.75
3E 50-125/1.5
3E 50-125/2.2 6205 6203
3E 50-160/3.0
3E 50-160/4.0 6202 6205
3E 50-200/5.5

6306 6206

3E 50-200/7.5
3E 50-200/11 6308 6208
3E 65-100/0.55
3E 65-100/0.75
3E 65-100/1.1 6203
3E 65-100/1.5
3E 65-125/2.2
3E 65-125/3.0

6203

6205

6205
3E 65-125/4.0 6206
3E 65-160/5.5 6306 6206
3E 65-160/7.5
3E 65-200/9.2 6308 6208

3E 65-200/11
3E 65-200/15 6309 6309
3E 80-100/1.5

3E 80-100/2.2 6205 6203
3E 80-160/9.2
3E 80-160/11 6308 6208
3E 80-160/15
3E 80-200/18.5 6309 6309
3E 80-200/22
3E 100-160/11 6308 6208
3E 100-160/15 6309 6309

3E 100-160/18.5

333
g EgAnA EBARA corroration




PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

e Eaana

CONSTRUCTION S50Hz
Rev.B
BEARINGS 3E 4POLE
Pump type . Ball bearing .
Pump side Fan side
3E4 32-160/0.37R
3E4 32-160/0.37
3E4 32-200/0.55
6205-2DW C3 6203-2DW C3
3E4 40-160/0.37R
3E4 40-160/0.37
3E4 40-200/0.55
3E4 40-200/0.75 6205-ZZ C3 6205-ZZ C3
3E4 50-125/0.37
6205-2DW C3 6203-2DW C3
3E4 50-160/0.55
3E4 50-200/0.75
3E4 50-200/1.1 6205-ZZ C3 6205-ZZ C3
3E4 50-200/1.5
3E4 65-125/0.55 6205-2DW C3 6203-2DW C3
3E4 65-160/0.75
3E4 65-160/1.1 6205-ZZ C3
6205-ZZ C3
3E4 65-200/1.5
3E4 65-200/2.2 6206-Z2Z C3
3E4 80-160/1.5 6205-ZZ C3 6205-ZZ C3
3E4 80-200/2.2
6206-ZZ C3 6205-ZZ C3
3E4 80-200/3.0
3E4 100-160/1.5 6205-2RS1 C3
6205-2RS1 C3
3E4 100-160/2.2 6206-2RS1 C3
334
EBARA CORPORATION



PM10U

IN-LINE CENTRIFUGAL PUMPS 3E

CONSTRUCTION 50Hz
Rev.B
BEARINGS 3ES 2POLE
Ball bearing
Pump type
Pump side Fan side

3ES 32-125/0.75 6204 6204
3ES 40-160/1.5

6205 6205
3ES 40-160/2.2
3ES 40-200/3.0 6206 6206
3ES 40-200/4.0 6306 6306
3ES 40-200/7.5 6208 6208
3ES 50-100/0.75 6204 6204
3ES 50-125/1.5

6205 6205
3ES 50-125/2.2
3ES 50-160/3.0 6206 6206
3ES 50-160/4.0 6306 6306
3ES 50-200/5.5

6208 6208

3ES 50-200/7.5
3ES 50-200/11 6309 6309
3ES 65-100/0.75

6204 6204
3ES 65-100/1.1
3ES 65-100/1.5 6205 6205
3ES 65-125/2.2 6205 6205
3ES 65-125/3.0 6206 6206
3ES 65-125/4.0 6306 6306
3ES 65-160/5.5
3ES 65-160/7.5 6208 6208
3ES 65-200/9.2
3ES 65-200/11
6309 6309
3ES 65-200/15
3ES 80-100/1.5
6205 6205
3ES 80-100/2.2
3ES 80-160/9.2 6208 6208
3ES 80-160/11
3ES 80-160/15 6309 6309
3ES 80-200/18.5
3ES 80-200/22 6311 6311
3ES 100-160/11
3ES 100-160/15 6309 6309

3ES 100-160/18.5

335
g EgAnA EBARA corroration




PM10U

IN-LINE CENTRIFUGAL PUMPS 3E

CONSTRUCTION 50Hz
Rev.B
BEARINGS 3ES 4POLE
Ball bearing
Pump type

Pump side Fan side
3ES4 32-200/0.55
3ES4 40-200/0.55 6204-2Z C3 6204-2Z C3
3ES4 40-200/0.75
3ES4 50-160/0.55

6204-2Z C3 6204-2Z C3
3ES4 50-200/0.75
3ES4 50-200/1.1

6205-2Z C3 6205-2Z C3
3ES4 50-200/1.5
3ES4 65-125/0.55

6204-2Z C3 6204-2Z C3
3ES4 65-160/0.75
3ES4 65-160/1.1

6205-2Z C3 6205-2Z C3
3ES4 65-200/1.5
3ES4 65-200/2.2 6206-2Z C3 6206-2Z C3
3ES4 80-160/1.5 6205-2Z C3 6205-2Z C3
3ES4 80-200/2.2

6206-2Z C3 6206-2Z C3
3ES4 80-200/3.0
3ES4 100-160/1.5 6205-2Z C3 6205-2Z C3
3ES4 100-160/2.2 6206-2Z C3 6206-2Z C3

336
g EgAnA EBARA corroration




IN-LINE CENTRIFUGAL PUMPS 3E

CONSTRUCTION 50Hz
Rev.B
MECHANICAL SEAL (Standard and Special version) 3E 3ES 2 POLE

-

-

|

I

|

|
—

4 1
-

Dimensions [ mm ] Material

Version Pump type i
ptyp di |l a2 | a3 | da | a5 L 1l L2 1.Rotary | 2.Stationary 3 Rubber 4.Frame +

seal ring seal ring Spring

32-125
50-100 15| 12 | 26 | 21 |269| 29 | 22 7
65-100/0.55-0.75

40-160/200

50-125/160/200
Standard |65-100/1.1-1.5 Silicon Metarialised EN 1.4401
(Q1AEGG) |65-125/160/200 22 19 36 31 37 |815127.5| 10 Carbide Carbon EPDM (AISI 316)
80-100

80-160/9.2-11

80-160/15
80-200 30 | 24 | 46 | 39 | 45 |425|325]| 10
100-160

32-125
50-100 15| 12 | 26 | 21 |269| 29 | 22 7
65-100/0.55-0.75

40-160/200
50-125/160/200 silicon
Option 1 | 65-100/1.1-1.5 - Silicon EN 1.4401

(Q4Q1EGG) | 65-125/160/200 | 22 | 19 | 36 | 31 | 87 |375127.5) 10 | Carbide | o~ 40 | EPDM | 51 316

80-100 graphite
80-160/9.2-11

80-160/15
80-200 30 | 24 | 46 | 39 | 45 |425|325]| 10
100-160

* The drawing is only indicative

337
g EgAnA EBARA corroration

PM10U



IN-LINE CENTRIFUGAL PUMPS 3E

CONSTRUCTION 50Hz
Rev.B
MECHANICAL SEAL (Standard and Special version) 3E 3ES 2 POLE

Dimensions [ mm ] Material

Version Pump type 1 2 3 4
dl | d2 | d3 | d4 | d5 L L1 | L2 Rotary Stationary Rubber Frame +

seal ring seal ring Spring

32-125
50-100 15 | 12 | 26 | 21 |26.9| 29 | 22 7
65-100/0.55-0.75

40-160/200
50-125/160/200
Option 2 |65-100/1.1-1.5
(Q4Q1VGG) | 65-200
80-100
80-160/9.2-11

80-160/15
80-200 30 | 24 | 46 | 39 | 45 | 425|325 10
100-160

32-125
50-100 15 | 12 | 26 | 21 |26.9| 29 | 22 7
65-100/0.55-0.75

40-160/200
50-125/160/200
Option 3 | 65-100/1.1-1.5 Silicon Carbon ) EN 1.4401
(QIAVGG) |65-200 22 | 19 | 86 | 31 | 37 37512751 10 | comide | (Metal) viton | Al 316)
80-100

80-160/9.2-11

80-160/15
80-200 30 | 24 | 46 | 39 | 45 | 425|325 10
100-160

* The drawing is only indicative

Silicon
22 | 19 | 36 | 31 | 37 |375(275]| 10 Carbide
graphite

EN 1.4401
(AISI 316)

Silicon

Carbide Viton

338
g EgAnA EBARA corroration

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

CONSTRUCTION

50Hz

Rev.B

MECHANICAL SEAL (Standard and Special version) 3E 3ES 4 POLE

L ]

¥ 1
S, R
P [ﬁ; i NN |
- p N =

Dimensions [ mm ] Material
Version Pump type 1 ,2 3 4
dl | d2 | d3 | d4 | d5 L L1 | L2 Rotary | Stationary Frame +
- h Rubber :
seal ring | seal ring Spring
32-160/200
40-160/200
50- EN
Standard | 125/160/200 Silicon | Metallised 1.4401
(Q1AEGG) |65- 221 19186 | 31 | 37 |37.51275) 10 | ~oide | Carbon EPDM (AISI
125/160/200 316)
80-160/200
100-160
32-160/200
40-160/200
50- Silicon EN
Option 1 125/160/200 . Silicon 1.4401
(Q4Q1EGG) | 65- 22 19 36 31 37 |375|275| 10 Crzrbt;(ijt(; Carbide EPDM (AISI
125/160/200 grap 316)
80-160/200
100-160
32-160/200
40-160/200
50- . EN
Option2 |125/160/200 | oy | 19 | 36 | 31 | 37 |37.5|275] 10 g::g%ne Silicon 1o | 14401
(Q4Q1VGG) | 65- ’ ’ raphite Carbide (AISI
125/160/200 grap 316)
80-160/200
100-160
32-160/200
40-160/200
50- EN
Option 3 | 125/160/200 Silicon Carbon . 1.4401
(Q1AVGG) | 65- 22 | 19 | 36 | 31 | 37 |375|275]| 10 Carbide (Metal) Viton (AISI
125/160/200 316)
80-160/200
100-160

* The drawing is only indicative

339

e Eaana

EBARA CORPORATION



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

CONSTRUCTION 50Hz
Rev.B
COUPLING 3ES 2 POLE
L
1 Set screw UNI EN ISO 4029
: - © T
( ! L1 |
=
-—W{—-%-—-—— — T 9|3
U
|
Power Motor Dimensions mm
Pumptype | oy | 1Py | size | d di | d2 | d3 M L L1 b h Set
screw
32-125/0.75 0.75 1 80 12 15 19 33 M10x1.25 102.5 43 6 21.8 M6x6
40-160/1.5 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
40-160/2.2 2.2 3 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
40-200/3.0 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
40-200/4.0 4 5.5 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
40-200/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
50-100/0.75 0.75 1 80 12 15 19 33 M10x1.25 102.5 43 6 21.8 M6x6
50-125/1.5 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
50-125/2.2 2.2 3 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
50-160/3.0 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
50-160/4.0 4 5.5 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
50-200/5.5 5.5 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
50-200/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
50-200/11 11 15 160 19 22 42 63 M16x1.5 178 114 12 45.3 M8x8
65-100/0.75 0.75 1 80 12 15 19 33 M10x1.25 102.5 43 6 21.8 M6x6
65-100/1.1 1.1 2 80 12 15 19 33 M10x1.25 102.5 43 6 21.8 M6x6
65-100/1.5 1.5 2 90 12 15 19 33 M10x1.25 102.5 43 6 21.8 M6x6
65-125/2.2 2.2 3 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
65-125/3.0 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
65-125/4.0 4 5.5 112 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
65-160/5.5 55 7.5 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-160/7.5 7.5 10 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-200/9.2 9.2 125 | 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
65-200/11 11 15 160 19 22 42 63 M16x1.5 178 114 12 45.3 M8x8
65-200/15 15 20 160 22 22 42 63 M18x1.5 209 114 12 45.3 M8x8
80-100/1.5 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
80-100/2.2 2.2 3 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
80-160/9.2 9.2 125 | 132 19 22 38 58 M16x1.5 145 84 10 41.3 M8x8
80-160/11 11 15 160 19 22 42 63 M16x1.5 178 114 12 45.3 M8x8
80-160/15 15 20 160 24 30 42 63 M20x1.5 184 114 12 45.3 M8x8
80-200/18.5 18.5 25 160 24 30 42 63 M20x1.5 184 114 12 45.3 M8x8
80-200/22 22 30 180 24 30 48 72 M20x1.5 184 114 14 51.8 M10x10
100-160/11 11 15 160 24 30 42 63 M20x1.5 184 114 12 45.3 M8x8
100-160/15 15 20 160 24 30 42 63 M20x1.5 184 114 12 45.3 M8x8
100-160/18.5 | 18.5 25 160 24 30 42 63 M20x1.5 184 114 12 45.3 M8x8
342

e Eaana

EBARA CORPORATION



IN-LINE CENTRIFUGAL PUMPS 3E

CONSTRUCTION 50Hz
Rev.B

COUPLING 3ES 4 POLE

L
U Set screw UNI EN IS0 4029
= | I —
=]
'c:l L! L I_'J
pa— L1 |
= = -—M{—-%-—-——-—- 1 r————1 | 8
1l

Power Motor Dimensions mm
Pump type ;

[kwW] kW] Size d d1i d2 d3 M L L1 b h Set screw
32-200/0.55 0.55 0.75 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
40-200/0.55 0.55 0.75 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
40-200/0.75 0.75 1 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
50-160/0.55 0.55 0.75 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
50-200/0.75 0.75 1.5 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6

50-200/1.1 1.1 1.5 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
50-200/1.5 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
65-125/0.55 0.55 0.75 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
65-160/0.75 0.75 15 80 19 22 19 33 M16x1.5 98 43 6 21.8 M6x6
65-160/1.1 11 15 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
65-200/1.5 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
65-200/2.2 2.2 3 100 22 22 28 43 M18x1.5 153 63 8 31.3 M8x8
80-160/1.5 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
80-200/2.2 2.2 3 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8

80-200/3 3 4 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8
100-160/1.5 1.5 2 90 19 22 24 39 M16x1.5 110 53 8 27.3 M8x8
100-160/2.2 2.2 3 100 19 22 28 43 M16x1.5 122 63 8 31.3 M8x8

343

g EgAnA EBARA corroration

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS 3E
CONSTRUCTION

S50Hz
Rev.B
BASE PLATE
; o
-

J | |

g 3 ] .

= I)

2| I
i I i

I = I
*Pump Models Hexagon head screws
50-200
3XM12
65-200
80-160,80-200,
4XM12
100-160
*Note: Baseplates are supplied as standard for 11kW motors and above
344

g EgAnA EBARA corroration



IN-LINE CENTRIFUGAL PUMPS

3E

CONSTRUCTION 50Hz
Rev.B
Dimension (mm)
Rated
Counter flange Pump type | Pressure Counterflange Bolt
PN
®N) DN D D2|E | F |H|H1| L1 L2 SN | Dimension Material
- 16 |32 | Rp1"1/4 |140|60 [100|30 |18 | 50 | 70 | 4
32-125
2 32-160 16 |40 | Rp1"1/2 |150|70 [110|32 |18 | 55 | 75 | 4
32-200
...... i 40-200 M16X55
50-125 16 |50| Rp2" |165|84 [125|28 |18 |62.5 |825| 4
50-160
- i 65-125
65-160 16 |65 | Rp2"1/2 |185|104[145|32 |18 | 72.5 | 925 | 4
- 80-100
16 |80| Rp3" |200[118[160|34 |20| 95 | 100 | 8 M16X60
16 |40 | Rp1"1/2 |150| 70 [110|32|18| 55 | 55 | 4
1
| -
40-160
....... 50-100
50-200 16 50| Rp2' |165|84 |125|28 |18 (625|625 | 4 M16X55 A2-70
- - 65-100 ISO 3506-1
65-200
16 |65 | Rp2"1/2 |185|104[145|32 |18 | 725 | 725 | 4
16 |80| Rp3" |200[118[160|34 |20 | 100 | 100 | 8
80-160
80-200 M16X60
100-160
16  |100| Rp4" |220|140(180|40 |20 | 110 | 110 | 8
Dimensions [mm]
DN M M1
= 32 38 82
40 50 93
50 60 107
65 80 125
80 90 140
100 115 160

PM10U

e Eaana

EBARA CORPORATION




PM10U

IN-LINE CENTRIFUGAL PUMPS

CONSTRUCTION 50Hz
Rev.B
DIMENSIONS & WEIGHT 3E 2 POLE
-~ 3 ot 1 ]
i | i 1
ey ~~a e — f = L il Alaiaidl
| [, o ." $ { I [ | P = o P !
(N 1= &L 114 o~ ——
) I ‘ '
o AwEE
Wy 4 t X
[ * L%
R © 2. |
Dimensions [ mm ] Weight
Model 1%} 1%} 1%} [kgf]
DN p K S L1 L2 H1 H2 | H3 B1 B2 B3 | G | n A
32-125/0.37 32 76 100 18 | 280 140 79 38 | 347 | 115 | 103 | 102 | O | 141 | 4| 140 16.7
32-125/0.55 32 76 100 | 18 | 280 140 79 38 | 347 | 115|103 | 102 | O | 141 | 4 | 140 | 18.2
32-125/0.75 32 76 100 18 | 280 140 79 38 | 347 | 115 | 103 | 101 | O | 140 | 4 | 140 19.4
40-160/1.1 40 84 110 | 18 | 320 160 68 50 | 395 | 127 | 127 | 124 | 19 | 176 | 4 | 150 | 29.6
40-160/1.5 40 84 110 18 | 320 160 68 50 | 395 | 127 | 127 | 124 | 17 | 176 | 4 | 150 29.6
40-160/2.2 40 84 110 18 | 320 160 68 50 | 420 | 127 | 127 | 124 | 18 | 176 | 4 | 150 32.1
40-200/3.0 40 84 110 18 | 340 170 100 50 | 490 | 146 | 146 | 124 | 15| 176 | 4 | 150 41.8
40-200/4.0 40 84 110 18 | 340 170 100 50 | 513 | 146 | 146 | 141 | 15| 193 | 4 | 150 44.3
40-200/7.5 40 84 110 18 | 340 170 100 50 | 558 | 146 | 146 | 150 | 15| 220 | 4 | 150 59.4
50-100/0.37 50 99 125 | 20 | 280 140 75 47 | 352 | 125|108 | 102 | O | 141 | 4| 165 | 194
50-100/0.55 50 99 125 | 20 | 280 140 75 47 | 352 | 125|108 | 102 | O | 141 |4 | 165 | 20.9
50-100/0.75 50 99 125 | 20 | 280 140 75 47 | 352 | 125 | 108 | 101 | O | 140 | 4 | 165 | 22.1
50-125/1.5 50 99 125 20 | 340 170 115 40 | 441 | 124 | 105 | 124 | 0 [ 176 | 4 | 165 28.4
50-125/2.2 50 99 125 20 | 340 170 115 40 | 466 | 124 | 105 | 124 | O | 176 | 4 | 165 30.4
50-160/3.0 50 99 125 | 20 | 340 170 115 | 50 | 505 | 134 | 126 | 124 | 18 | 176 | 4 | 165 | 35.8
50-160/4.0 50 99 125 20 | 340 170 115 50 | 528 | 134 | 126 | 141 | 18 | 193 | 4 | 165 44.8
50-200/5.5 50 99 125 | 20 | 440 220 115 | 50 | 553 | 148 | 141 | 150 | 0 | 220 | 4 | 165 | 79.3
50-200/7.5 50 99 125 | 20 | 440 220 115 | 50 | 574 | 148 | 141 | 150 | O | 220 | 4 | 165 | 56.9
50-200/11 50 99 125 20 | 440 170 115 50 | 609 | 148 | 141 | 178 | O | 259 | 4 | 165 79.3
65-100/0.55 65 118 145 | 20 | 340 170 82 40 | 353 | 115 | 100 | 102 | O | 141 |4 | 185 | 224
65-100/0.75 65 118 145 | 20 | 340 170 82 40 | 352 | 115 | 100 | 101 | O | 140 | 4| 185 | 23.6
65-100/1.1 65 118 145 20 | 340 170 82 40 | 408 | 115 | 100 | 124 | O [ 176 | 4 | 185 29.4
65-100/1.5 65 118 145 20 | 340 170 82 40 | 408 | 115 | 100 | 124 | O [ 176 | 4 | 185 28.7
65-125/2.2 65 118 145 20 | 360 180 105 50 | 456 | 136 | 126 | 124 | 18 | 176 | 4 | 185 35.3
65-125/3.0 65 118 145 | 20 | 360 180 105 | 50 | 495 | 136 | 126 | 124 | 18 | 176 | 4 | 185 | 37.8
65-125/4.0 65 118 145 20 | 360 180 105 50 | 518 | 136 | 126 | 141 | 18 | 193 | 4 | 185 46.3
65-160/5.5 65 118 145 | 20 | 360 180 105 | 50 | 543 | 141|141 | 150 | O | 220 | 4 | 185 | 58.0
65-160/7.5 65 118 145 20 | 360 180 105 50 | 563 | 141 | 141 | 150 | O | 220 | 4 | 185 65.1
65-200/9.2 65 118 145 20 | 475 | 2375 125 50 | 620 | 151 | 141 | 178 | O | 259 | 4 | 185 81.8
65-200/11 65 118 145 20 | 475 | 2375 125 50 | 619 | 151 | 141 | 178 | O | 259 | 4| 185 81.8
65-200/15 65 118 145 20 | 475 | 2375 125 50 | 747 | 151 | 141 [ 223 | O | 309 | 4 | 185 | 123.5
80-100/1.5 80 132 160 | 22 | 360 175 97 48 | 431 | 134 | 108 | 124 | O | 176 | 8 | 200 | 34.5
80-100/2.2 80 132 160 | 22 | 360 175 97 48 | 457 | 134 | 108 | 124 | 0 | 176 | 8 | 200 | 36.5
80-160/9.2 80 132 160 | 22 | 440 220 115 | 50 | 609 | 146 | 141 | 178 | O | 259 | 8 | 200 | 86.2
80-160/11 80 132 160 | 22 | 440 220 115 | 50 | 609 | 146 | 141 | 178 | O | 259 | 8 | 200 | 88.6
80-160/15 80 132 160 | 22 | 440 220 115 | 50 | 746 | 146 | 141 | 223 | 0 | 309 | 8 | 200 | 130.3
80-200/18.5 80 132 160 | 22 | 500 250 115 | 50 | 746 | 160 | 141 | 223 | 0 | 309 | 8 | 200 | 148.1
80-200/22 80 132 160 22 | 500 250 115 50 | 746 | 160 | 141 | 223 | O | 309 | 8 | 200 | 159.9
100-160/11 100 156 180 | 24 | 550 275 140 | 64 | 636 | 173 | 141 | 178 | 0 | 259 | 8 | 230 | 98.9
100-160/15 100 156 180 | 24 | 550 275 140 | 64 | 786 | 173 | 141 | 223 | O | 309 | 8 | 230 | 130.0
100-160/18.5 100 156 180 24 | 550 275 140 64 | 786 | 173 | 141 | 223 | O | 309 | 8 | 230 | 144.2
346

B ERARA

E BARA CORPORATION



IN-LINE CENTRIFUGAL PUMPS 3E

CONSTRUCTION 50Hz
Rev.B

DIMENSIONS & WEIGHT 3E 4 POLE

‘Jﬂ [ |

e o

) ——— L B Y 1
(] e [} A S = _.;ﬁ.;.._k et
+ . + $re— 7 - - 4 L1 1
by ) ] 5 [f+7] '
s L 'k e 4 MRE
-t a
: «i= _l...__‘. M | N,

Dimensions [ mm ] h
Model o 91 2 s|wu| L2 |HL|H|H3|BL|B2|B3 |G| I [n] A V[ngg ]t
DN P K

32-160/0.37R 32 76 100 | 18 | 340 170 100 | 50 | 412 | 125 | 125 | 119 | 18 | 159 | 4 | 140 26.1
32-160/0.37 32 76 100 | 18 | 340 170 100 | 50 | 412 | 125 | 125 | 119 | 18 | 159 | 4 | 140 26.3
32-200/0.55 32 76 100 | 18 | 440 220 100 | 50 | 412 | 144 | 140 | 119 | O | 159 | 4 | 140 30.9
40-160/0.37R 40 84 | 110 |18 320 | 160 | 68 |50 | 379 | 127 | 127 | 119 [ 18 | 159 | 4 | 150 | 573
40-160/0.37 40 84 110 | 18 | 320 160 68 | 50 | 379 | 127 | 127 | 119 | 18 | 159 | 4 | 150 275
40-200/0.55 40 84 | 110 |18 [ 340 | 170 | 100 | 50 | 412 | 146 | 146 | 119 | 15 | 159 | 4 | 150 | 345
40-200/0.75 40 84 110 | 18 | 340 170 100 | 50 | 452 | 146 | 146 | 124 | 15 | 176 | 4 | 150 33.8
50-125/0.37 50 99 125 | 20 | 340 170 115 | 40 | 406 | 124 | 105 | 102 | O | 141 | 4 | 165 23.2
50-160/0.55 50 99 125 | 20 | 340 170 115 | 50 | 428 | 134 | 126 | 119 | 18 | 159 | 4 | 165 295
50-200/0.75 50 99 125 | 20 | 440 220 115 | 50 | 467 | 148 | 141 | 124 | O | 176 | 4 | 165 37.3
50-200/1.1 50 99 125 | 20 | 440 220 115 | 50 | 467 | 148 | 141 | 124 | O | 176 | 4 | 165 38.2
50-200/1.5 50 99 125 | 20 | 440 220 115 | 50 | 506 | 148 | 141 | 124 | O | 176 | 4 | 165 39.9
65-125/0.55 65 118 145 | 20 | 360 180 105 | 50 | 418 | 136 | 126 | 119 | 18 | 159 | 4 | 185 311
65-160/0.75 65 118 145 | 20 | 360 180 105 | 50 | 457 | 141 | 141 | 124 | O | 176 | 4 | 185 375
65-160/1.1 65 118 145 | 20 | 360 180 105 | 50 | 457 | 141 | 141 | 124 | O | 176 | 4 | 185 40.3
65-200/1.5 65 118 145 | 20 | 475 237.5 125 | 50 | 516 | 151 | 141 | 124 | O | 176 | 4 | 185 43.9
65-200/2.2 65 118 145 | 20 | 475 237.5 125 | 50 | 499 | 151 | 141 | 141 | O | 193 | 4 | 185 42.3
80-160/1.5 80 132 160 | 22 | 440 220 115 | 50 | 506 | 146 | 141 | 124 | O | 176 | 8 | 200 47.3
80-200/2.2 80 132 160 | 22 | 500 250 115 | 50 | 489 | 160 | 141 | 141 | O | 193 | 8 | 200 48.3
80-200/3.0 80 132 160 | 22 | 500 250 115 | 50 | 529 | 160 | 141 | 141 | O | 193 | 8 | 200 56.3
100-160/1.5 100 156 180 | 24 | 550 275 140 | 64 | 543 | 173 | 141 | 124 | O | 176 | 8 | 230 51.9
100-160/2.2 100 156 180 | 24 | 550 275 140 | 64 | 528 | 173 | 141 | 141 | O | 193 | 8 | 230 51.9

347

B2 eanna EBARA corsonsrion

PM10U



IN-LINE CENTRIFUGAL PUMPS 3E

CONSTRUCTION 50Hz
Rev.B

DIMENSIONS & WEIGHT 3ES 2 POLE

o ||
== L] x| f 'l'";' ey : : rblnimide | i
L ' | P 11 1 t | N _;‘ 3
| ! ! i :
t :}""'-' ll b le
| ' |
' - -

Vodel o s o Dimensions [ mm ] Weight
DN P K S L1 L2 H1 H2 H3 B1 B2 B3 G | n A | [kof]

32-125/0.75 | 32 76 | 100 | 18 | 280 | 140 | 79 | 116 | 427 | 115 | 103 | 139 0 160 4 140 27.8
40-160/1.5 40 84 | 110 | 18 | 320 | 160 | 68 | 130 | 465 | 127 | 127 | 148 | 18 | 180 4 150 32.5
40-160/2.2 40 84 | 110 | 18 | 320 | 160 | 68 | 130 | 465 | 127 | 127 | 148 | 18 | 180 4 150 36.6
40-200/3.0 40 84 | 110 | 18 | 340 | 170 | 100 | 142 | 548 | 146 | 146 | 155 | 15 | 196 4 150 53.6
40-200/4.0 40 84 | 110 | 18 | 340 | 170 | 100 | 142 | 570 | 146 | 146 | 171 | 15 | 225 4 150 55.1
40-200/7.5 40 84 | 110 | 18 | 340 | 170 | 100 | 165 | 650 | 146 | 146 | 194 | 14 | 248 4 150 86.3
50-100/0.75 | 50 99 | 125 | 20 | 280 | 140 | 75 | 125 | 432 | 125 | 108 | 139 0 160 4 165 27.8
50-125/1.5 50 99 | 125 | 20 | 340 | 170 | 115 | 130 | 512 | 124 | 105 | 148 0 180 4 165 30.3
50-125/2.2 50 99 | 125 | 20 | 340 | 170 | 115 | 130 | 512 | 124 | 105 | 148 0 180 4 165 38.8
50-160/3.0 50 99 | 125 | 20 | 340 | 170 | 115 | 142 | 563 | 134 | 126 | 155 | 18 | 196 4 165 62.4
50-160/4.0 50 99 | 125 | 20 | 340 | 170 | 115 | 257 | 585 | 134 | 126 | 171 | 18 | 225 4 165 48.6
50-200/5.5 50 99 | 125 | 20 | 440 | 220 | 115 | 165 | 642 | 148 | 141 | 198 0 248 4 165 | 127.7
50-200/7.5 50 99 | 125 | 20 | 440 | 220 | 115 | 165 | 642 | 148 | 141 | 198 0 248 4 165 76.6
50-200/11 50 99 | 125 | 20 | 440 | 220 | 115 | 198 | 811 | 148 | 141 | 238 0 317 4 165 | 127.7
65-100/0.75 | 65 | 118 | 145 | 20 | 340 | 170 | 82 | 118 | 432 | 115 | 100 | 139 0 160 4 185 32.0
65-100/1.1 65 | 118 | 145 | 20 | 340 | 170 | 82 | 118 | 432 | 115 | 100 | 139 0 160 4 185 32.0
65-100/1.5 65 | 118 | 145 | 20 | 340 | 170 | 82 | 130 | 479 | 115 | 100 | 148 0 180 4 185 30.6
65-125/2.2 65 | 118 | 145 | 20 | 360 | 180 | 105 | 130 | 502 | 136 | 126 | 148 | 18 | 180 4 185 36.2
65-125/3.0 65 | 118 | 145 | 20 | 360 | 180 | 105 | 142 | 553 | 136 | 126 | 155 | 18 | 196 4 185 42.4
65-125/4.0 65 | 118 | 145 | 20 | 360 | 180 | 105 | 142 | 575 | 136 | 126 | 171 | 18 | 225 4 185 51.0
65-160/5.5 65 | 118 | 145 | 20 | 360 | 180 | 105 | 165 | 632 | 141 | 141 | 198 0 248 4 185 75.3
65-160/7.5 65 | 118 | 145 | 20 | 360 | 180 | 105 | 165 | 632 | 141 | 141 | 198 0 248 4 185 975
65-200/9.2 65 | 118 | 145 | 20 | 475 |237.5| 125 | 165 | 692 | 151 | 141 | 198 0 248 4 185 | 130.2
65-200/11 65 | 118 | 145 | 20 | 475 [237.5| 125 | 198 | 821 | 151 | 141 | 238 0 317 4 185 | 130.2
65-200/15 65 | 118 | 145 | 20 | 475 [237.5| 125 | 198 | 821 | 151 | 141 | 238 0 317 4 185 | 166.3
80-100/1.5 80 | 132 | 160 | 22 | 360 | 175 | 97 | 138 | 502 | 134 | 108 | 148 0 180 8 200 36.4
80-100/2.2 80 | 132 | 160 | 22 | 360 | 175 | 97 | 138 | 502 | 134 | 108 | 148 0 180 8 200 40.0
80-160/9.2 80 | 132 | 160 | 22 | 440 | 220 | 115 | 165 | 682 | 146 | 141 | 198 0 248 8 200 | 109.2
80-160/11 80 | 132 | 160 | 22 | 440 | 220 | 115 | 198 | 811 | 146 | 141 | 238 0 317 8 200 | 108.0
80-160/15 80 | 132 | 160 | 22 | 440 | 220 | 115 | 208 | 821 | 146 | 141 | 238 0 317 8 200 | 1441
80-200/18.5 | 80 | 132 | 160 | 22 | 500 | 250 | 115 | 208 | 865 | 160 | 141 | 238 0 317 8 200 | 160.3
80-200/22 80 | 132 | 160 | 22 | 500 | 250 | 115 | 208 | 900 | 160 | 141 | 268 0 360 8 200 | 198.8
100-160/11 | 100 | 156 | 180 | 24 | 550 | 275 | 140 | 222 | 860 | 173 | 141 | 238 0 317 8 230 | 1447
100-160/15 | 100 | 156 | 180 | 24 | 550 | 275 | 140 | 222 | 860 | 173 | 141 | 238 0 317 8 230 | 155.9
100-160/18.5] 100 | 156 | 180 | 24 | 550 | 275 | 140 | 222 | 904 | 173 | 141 | 238 0 317 8 230 | 150.1

348

B2 eanna EBARA corsonsrion

PM10U



IN-LINE CENTRIFUGAL PUMPS 3E

CONSTRUCTION 50Hz
Rev.B

DIMENSIONS & WEIGHT 3ES 4 POLE

*

—_— [ —

™M o m  0m

1 AL el IR TP

AL ~E o s L

¥ $ie | Yrie 2

] AR e | b

J. > 1 : 1 %/ 32

| o ] I i I L s ]

Model ” 5 - Dimensions [mm] Weight
DN b p S L1 | L2 | HL | H2 | H3 | B1 | B2 | B3 G [ n A | [kof]
32-200/0.55 | 32 | 76 | 100 | 18 | 440 | 220 | 100 | 118 | 450 | 144 | 140 | 139 | 0 | 160 | 4 | 140 30.4
40-200/0.55 | 40 | 84 | 110 | 18 | 340 | 170 | 100 | 118 | 450 | 146 | 146 | 139 | 14 | 160 | 4 | 150 38.7
40-200/0.75 | 40 | 84 | 110 | 18 | 340 | 170 | 100 | 118 | 450 | 146 | 146 | 139 | 15 | 160 | 4 | 150 35.2
50-160/0.55 | 50 | 99 | 125 | 20 | 340 | 170 | 115 | 118 | 465 | 134 | 126 | 139 | 18 | 160 | 4 | 165 32.4
50-200/0.75 | 50 | 99 | 125 | 20 | 440 | 220 | 115 | 118 | 465 | 148 | 141 | 139 | 0 | 160 | 4 | 165 38.7
50-200/1.1 50 | 99 | 125 | 20 | 440 | 220 | 115 | 130 | 512 | 148 | 141 | 148 | O | 180 | 4 | 165 46.1
50-200/1.5 50 | 99 | 125 | 20 | 440 | 220 | 115 | 130 | 512 | 148 | 141 | 148 | O | 180 | 4 | 165 47.7
65-125/0.55 | 65 | 118 | 145 | 20 | 360 | 180 | 105 | 118 | 455 | 136 | 126 | 139 | 18 | 160 | 4 | 185 34.3
65-160/0.75 | 65 | 118 | 145 | 20 | 360 | 180 | 105 | 118 | 455 | 141 | 141 | 139 | 0 | 160 | 4 | 185 38.9
65-160/1.1 65 | 118 | 145 | 20 | 360 | 180 | 105 | 235 | 502 | 141 | 141 | 148 | 0 | 180 | 4 | 185 47.8
65-200/1.5 65 | 118 | 145 | 20 | 475 |237.5| 125 | 130 | 522 | 151 | 141 | 148 | 0 | 180 | 4 | 185 52.0
65-200/2.2 65 | 118 | 145 | 20 | 475 |2375| 125 | 142 | 573 | 151 | 141 | 155 | O | 196 | 4 | 185 55.7
80-160/1.5 80 | 132 | 160 | 22 | 440 | 220 | 115 | 130 | 512 | 146 | 141 | 148 | 0 | 180 | 8 | 200 62.9
80-200/2.2 80 | 132 | 160 | 22 | 500 | 250 | 115 | 142 | 563 | 160 | 141 | 155 | O | 196 | 8 | 200 65.1
80-200/3.0 80 | 132 | 160 | 22 | 500 | 250 | 115 | 142 | 563 | 160 | 141 | 155 | O | 196 | 8 | 200 66.8
100-160/1.5 | 100 | 156 | 180 | 24 | 550 | 275 | 140 | 144 | 551 | 173 | 141 | 148 | 0 | 177 | 8 | 230 76.3
100-160/2.2 | 100 | 156 | 180 | 24 | 550 | 275 | 140 | 156 | 602 | 173 | 141 | 155 | 0 | 196 | 8 | 230 99.8
349

B2 eanna EBARA corsonsrion

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

DIMENSIONS AND WEIGHT 50Hz
Rev.B
PACKING 3E - 2POLE
Packing [mm] Total net
Pump Type z | x | v | weight (kg)
3E 32-125/0.37 450 | 390 | 610 21.8
3E 32-125/0.55 450 | 390 | 610 233
3E 32-125/0.75 450 | 390 | 610 245 - -
3E 40-160/1.1 450 | 390 | 610 34.7
3E 40-160/1.5 450 | 390 | 610 34.7
3E 40-160/2.2 450 | 390 | 610 37.2 g
3E 40-200/3.0 450 | 390 | 700 46.9
3E 40-200/4.0 450 | 390 | 700 49.4
3E 40-200/7.5 450 | 390 | 700 64.5 _H/ L|\9
3E 50-100/0.37 450 | 390 | 610 245
3E 50-100/0.55 450 | 390 | 610 26
3E 50-100/0.75 450 | 390 | 610 27.2
3E 50-125/1.5 450 | 390 | 610 335
3E 50-125/2.2 450 | 390 | 610 355
3E 50-160/3.0 450 | 390 | 700 40.9
3E 50-160/4.0 450 | 390 | 700 49.9
3E 50-200/5.5 640 | 530 | 785 89.3
3E 50-200/7.5 640 | 530 | 785 66.9
3E 50-200/11 640 | 530 | 785 89.3
3E 65-100/0.55 450 | 390 | 610 275
3E 65-100/0.75 450 | 390 | 610 28.7
3E 65-100/1.1 450 | 390 | 610 345
3E 65-100/1.5 450 | 390 | 610 33.8
3E 65-125/2.2 450 | 390 | 610 40.4
3E 65-125/3.0 450 | 390 | 700 42.9
3E 65-125/4.0 450 | 390 | 700 51.4
3E 65-160/5.5 450 | 390 | 700 63.1
3E 65-160/7.5 450 | 390 | 700 70.2
3E 65-200/9.2 640 | 530 | 785 91.8
3E 65-200/11 640 | 530 | 1045 91.8
3E 65-200/15 640 | 530 | 1045 1335
3E 80-100/1.5 450 | 390 | 610 39.6
3E 80-100/2.2 450 | 390 | 610 41.6
3E 80-160/9.2 640 | 530 | 785 96.2
3E 80-160/11 640 | 530 | 785 98.6
3E 80-160/15 640 | 530 | 1045 140.3
3E 80-200/18.5 640 | 530 | 1045 158.1
3E 80-200/22 640 | 530 | 1045 169.9
3E 100-160/11 640 | 530 | 1045 108.9
3E 100-160/15 640 | 530 | 1045 140
3E 100-160/18.5 | 640 | 530 | 1045 154.2
350
EBARA CORPORATION

e Eaana



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

DIMENSIONS AND WEIGHT 50Hz
Rev.B
PACKING 3E - 4POLE
Packing [mm] Total net
Pump Type )
7 X v | weight (kg)
3E4 32-160/0.37 450 | 390 | 610 31.4
3E4 32-160/0.37R | 450 | 390 | 610 31.2 — l—
3E4 32-200/0.55 640 | 530 | 785 40.9
3E4 40-160/0.37 450 | 390 | 610 32.6 >
3E4 40-160/0.37R | 450 | 390 | 610 324
3E4 40-200/0.55 | 450|390 | 610 |  35.3 iV ] \9
3E4 40-200/0.75 450 | 390 | 610 38.9 | |
3E4 50-125/0.37 450 | 390 | 610 28.3
3E4 50-160/0.55 450 | 390 | 610 34.6
3E4 50-200/0.75 640 | 530 | 785 47.3
3E4 50-200/1.1 640 | 530 | 785 48.2
3E4 50-200/1.5 640 | 530 | 785 49.9
3E4 65-125/0.55 450 | 390 | 610 36.2
3E4 65-160/0.75 450 | 390 | 610 42.6
3E4 65-160/1.1 450 | 390 | 610 45.4
3E4 65-200/1.5 640 | 530 | 785 53.9
3E4 65-200/2.2 640 | 530 | 785 52.3
3E4 80-160/1.5 640 | 530 | 785 57.3
3E4 80-200/2.2 640 | 530 | 785 58.3
3E4 80-200/3.0 640 | 530 | 785 66.3
3E4 100-160/1.5 640 | 530 | 785 61.9
3E4 100-160/2.2 640 | 530 | 785 61.9
351
EBARA corroration



IN-LINE CENTRIFUGAL PUMPS 3E

DIMENSIONS AND WEIGHT 50Hz
Rev.B

PACKING 3ES - 2POLE

Packing [mm]

Pump Type T(_)tal net
7 X v weight (kg)

3ES 32-125/0.75 | 450 | 390 | 610 32.9
3ES 40-160/1.5 | 450 | 390 | 610 37.6
3ES 40-160/2.2 | 450 | 390 | 610 41.7 - -
3ES 40-200/3.0 | 450 | 390 | 700 58.7
3ES 40-200/4.0 | 640 | 530 | 785 65.1
3ES 40-200/7.5 | 640 | 530 | 785 96.3 ”
3ES 50-100/0.75 | 450 | 390 | 610 32.9
3ES 50-125/1.5 | 450 | 390 | 700 35.4 v 1 \9
3ES 50-125/2.2 | 450 | 390 | 700 43.9 | Z |
3ES 50-160/3.0 | 450 | 390 | 700 67.5
3ES 50-160/4.0 | 640 | 530 | 785 58.6
3ES 50-200/5.5 | 640 | 530 | 785 | 137.7
3ES 50-200/7.5 | 640 | 530 | 785 86.6
3ES 50-200/11 | 640 | 530 | 1045 | 137.7
3ES 65-100/0.75 | 450 | 390 | 610 37.1

3ES 65-100/1.1 450 | 390 | 610 37.1
3ES 65-100/1.5 450 | 390 | 610 35.7
3ES 65-125/2.2 450 | 390 | 700 41.3
3ES 65-125/3.0 450 | 390 | 700 47.5
3ES 65-125/4.0 640 | 530 | 785 61

3ES 65-160/5.5 640 | 530 | 785 85.3
3ES 65-160/7.5 640 | 530 | 785 107.5
3ES 65-200/9.2 640 | 530 | 1045 140.2
3ES 65-200/11 640 | 530 | 1045 140.2
3ES 65-200/15 640 | 530 | 1045 176.3
3ES 80-100/1.5 450 | 390 | 700 41.5
3ES 80-100/2.2 450 | 390 | 700 45.1
3ES 80-160/9.2 640 | 530 | 1045 119.2
3ES 80-160/11 640 | 530 | 1045 118

3ES 80-160/15 640 | 530 | 1045 1541
3ES 80-200/18.5 | 640 | 530 | 1045 170.3
3ES 80-200/22 760 | 610 | 1280 214.6
3ES 100-160/11 | 640 | 530 | 1045 154.7
3ES 100-160/15 | 640 | 530 | 1045 165.9
3ES 100-160/18.5 | 760 | 610 | 1280 165.9

352
g EgAnA EBARA corroration

PM10U



IN-LINE CENTRIFUGAL PUMPS 3E

DIMENSIONS AND WEIGHT 50Hz
Rev.B

PACKING 3ES -4POLE

Packing [nm] | Total
net

7 X Y weight
(k)
3ES4 32-200/0.55 | 640|539 |785| 494
3ES4 40-200/0.55 | 450|390 | 610 | 43.8 =
3ES4 40-200/0.75 | 450|390 | 610 | 40.3

Pump Type

3ES4 50-160/0.55 | 450 | 390 | 610 | 37.5 >

3ES4 50-200/0.75 | 640 | 530 | 785 | 48.7

3ES4 50-200/1.1 640 | 530 | 785 | 56.1 __|J/ L\Q
z

3ES4 50-200/1.5 640 | 530 | 785 | 57.7
3ES4 65-125/0.55 | 450 | 390 | 610 | 39.4
3ES4 65-160/0.75 | 450 | 390 | 610 44

3ES4 65-160/1.1 450 1390 | 700 | 52.9
3ES4 65-200/1.5 640 | 530 | 785 62

3ES4 65-200/2.2 640 | 530 | 785 | 65.7
3ES4 80-160/1.5 640 530 | 785 | 72.9
3ES4 80-200/2.2 640 530 | 785 | 75.1
3ES4 80-200/3.0 640 | 530 | 785 | 76.8
3ES4 100-160/1.5 | 640 | 530|785 | 86.3
3ES4 100-160/2.2 | 640 | 530 | 785 | 109.8

353
g EgAnA EBARA corroration

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

TECHNICAL DATA

50Hz

MOTOR DATA 3E 2 POLE

Rev.B

PuUmp type Motor Power Efficiency | Input [KW] Efficiency (% load) | Full load current [A] |Locked rotor current [A]
[kW] | [HP] 50% | 75% | 100% |230 V|400V|690 V| 230V | 400V [690 V
3E 32-125/0.37 | 0.37 | 0.5 0.71 75.1 | 785 78 24 | 14 - 12.7 7.30 -
3E 32-125/0.55 [ 0.55| 0.75 0.91 80.2 1828 | 829 | 30 | 17 - 20.5 11.8 -
3E 32-125/0.75 | 0.75 1 1.05 809|823 | 821 | 33 | 19 - 19.7 11.4 -
3E 40-160/1.1 11 15 1.77 835|843 | 846 | 58 | 3.3 - 47.4 27.4 -
3E 40-160/1.5 15 2 1.77 835|843 | 846 | 58 | 3.3 - 47.4 27.4 -
3E 40-160/2.2 2.2 3 2.55 86.2 | 87.0| 86.0 | 82 | 4.7 - 66.6 38.4 -
3E 40-200/3.0 3 4 3.44 859|875 | 871 (111 | 6.4 - 90.0 52.0 -
3E 40-200/4.0 55 4.52 85.8 1883 | 884 (151 87 - 1318 | 76.1 -
3E 40-200/7.5 7.5 10 8.26 89 | 90.7 | 90.8 - 136 | 7.9 - 144.0 | 83.0
3E 50-100/0.37 [ 0.37 | 0.5 0.71 75.1 | 785 78 24 | 14 - 12.7 7.30 -
3E 50-100/0.55 [ 0.55| 0.75 0.91 80.2 1828 | 829 | 3.0 | 17 - 20.5 11.8 -
3E 50-100/0.75 | 0.75 1 1.05 809|823 | 821 | 33 | 19 - 19.7 11.4 -
3E 50-125/1.5 15 2 1.77 835|843 | 846 | 58 | 3.3 - 47.4 27.4 -
3E 50-125/2.2 2.2 3 2.55 86.2 | 87.0| 86.0 | 82 | 4.7 - 66.6 38.4 -
3E 50-160/3.0 3.0 4 3.44 859|875 | 87.1 (111 | 6.4 - 90.0 52.0 -
3E 50-160/4.0 4 55 4.52 858|883 | 884 (151 | 87 - 1318 | 76.1 -
3E 50-200/5.5 55 7.5 6.09 89.2 | 90.6 | 90.4 - 106 | 6.1 - 115.3 | 67.0
3E 50-200/7.5 7.5 10 8.26 89 | 90.7| 90.8 - 136 | 7.9 - 144.0 | 83.0
3E 50-200/11 11 15 11.98 90.4 | 91.2 | 91.8 - 213 | 123 - 184.0 |107.0
3E 65-100/0.55 [ 0.55| 0.75 0.91 80.2 1828 | 829 | 30 | 17 - 20.5 11.8 -
3E 65-100/0.75 | 0.75 1 IE3 1.05 80.9 823 | 821 | 33 | 19 - 19.7 11.4 -
3E 65-100/1.1 11 15 1.77 835|843 | 846 | 58 | 3.3 - 47.4 27.4 -
3E 65-100/1.5 15 2 1.77 835|843 | 846 | 58 | 3.3 - 47.4 27.4 -
3E 65-125/2.2 2.2 2.55 86.2 | 87.0| 86.0 | 82 | 4.7 - 66.6 38.4 -
3E 65-125/3.0 3.0 3.44 859|875 | 87.1 (111 | 6.4 - 90.0 52.0 -
3E 65-125/4.0 4.0 55 4.52 85.8 1883 | 884 (151 | 87 - 1318 | 76.1 -
3E 65-160/5.5 55 7.5 6.09 89.2 | 90.6 | 90.4 - 106 | 6.1 - 115.3 | 67.0
3E 65-160/7.5 7.5 10 8.26 89 | 90.7| 90.8 - 136 | 7.9 - 144.0 | 83.0
3E 65-200/9.2 9.2 | 125 10.12 90.1 | 90.8 | 90.9 - 17.2 | 10.0 - 166.0 | 96.0
3E 65-200/11 11 15 11.98 90.4 | 91.2 | 91.8 - 213 | 123 - 184.0 |107.0
3E 65-200/15 15 20 16.32 91.2 | 92.0 | 91.9 - 27.7 | 17.3 - 225.0 |130.0
3E 80-100/1.5 15 2 1.77 835|843 | 846 | 58 | 3.3 - 47.4 27.4 -
3E 80-100/2.2 2.2 3 2.55 86.2 | 87.0| 86.0 | 82 | 4.7 - 66.6 38.4 -
3E 80-160/9.2 9.2 | 125 10.12 90.1 | 90.8 | 90.9 - 17.2 | 10.0 - 166.0 | 96.0
3E 80-160/11 11 15 11.98 90.4 | 91.2 | 91.8 - 213 | 123 - 184.0 |107.0
3E 80-160/15 15 20 16.32 91.2 | 92.0 | 91.9 - 27.7 | 17.3 - 225.0 |130.0
3E 80-200/18.5 [ 185 | 25 19.98 916 | 93.0 | 92.6 - 35.0 | 20.3 - 328.0 |190.0
3E 80-200/22 22 30 23.58 92.0 | 93.1 | 93.2 - 39.7 | 23.6 - 391.0 |227.0
3E 100-160/11 11 15 11.98 90.4 | 91.2 | 91.8 - 213 | 123 - 184.0 |107.0
3E 100-160/15 15 20 16.32 91.2 | 92.0 | 91.9 - 27.7 | 17.3 - 225.0 |130.0
3E100-160/18.5 | 185 | 25 19.98 91.6 | 93.0 | 92.6 - 35.0 | 20.3 - 328.0 |190.0
354
EBARA CORPORATION

e Eaana



IN-LINE CENTRIFUGAL PUMPS 3E

TECHNICAL DATA 50Hz
Rev.B

MOTOR DATA 3E 4 POLE

Motor N Input EfflClepr;(\:z/e(:_/?;g; ?) and Full load current [Locked rotor current
Pump type spa|  POWEr Efficiency [KW] n% o [A] [A]
kW] | [HP] 50% | 75% |100% | “°>"?|230 v|400 v |690 v|230 v|400 v]690 Vv
3E4 32-160/0.37R 0.37 | 0.5 0.71 1719|759 | 777|075 2.4 1.4 - 148 | 8.6 -
3E4 32-160/0.37 | 80 | 0.37 | 0.5 0711719 | 759 | 777|075 24 1.4 - 148 | 8.6 -
3E4 32-200/0.55 0.55 | 0.75 IE2 0.71 1719|759 | 777|075 2.4 1.4 - 148 | 8.6 -
3E4 40-160/0.37R 0.37 | 05 071|719 | 759 |77.7|1075| 24 1.4 - 148 | 8.6 -
3E4 40-160/0.37 | 80 | 0.37 | 0.5 0711719 | 759 | 777|075 24 1.4 - 148 | 8.6 -
3E4 40-200/0.55 0.55 | 0.75 071|719 | 759 |77.7|1075]| 24 1.4 - 148 | 8.6 -
3E4 40-200/0.75 | 90 | 0.75 | 1 IE3 1.31(815(83.4 (841|071 46 | 2.7 - 329 | 19 -
3E4 50-125/0.37 | 71 | 0.37 | 0.5 IE2 0711719 | 759 | 777|075 2.4 1.4 - 148 | 8.6 -
3E4 50-160/0.55 | 80 | 0.55 | 0.75 0711719 | 759 | 777|075 2.4 1.4 - 148 | 8.6 -
3E4 50-200/0.75 0.75 1 1.31(815(83.4 (841 |071]| 4.6 2.7 - 329 | 19 -
3E4 50-200/1.1 90 | 1.1 1.5 IE3 1.31(815(83.4|841|0.71]| 4.6 2.7 - 329 | 19 -
3E4 50-200/1.5 15 2 176 181.1 841|853 |0.71| 6.2 | 3.6 - 45 26 -
3E4 65-125/0.55 | 80 | 0.55 | 0.75 IE2 071|719 | 759 |77.7|1075]| 24 1.4 - 148 | 8.6 -
3E4 65-160/0.75 0.75| 1.5 1.31(815(83.4 (841 |071]| 4.6 2.7 - 329 | 19 -
3E4 65-160/1.1 90 | 1.1 1.5 1.31 1815|834 (841|071 4.6 2.7 - 329 | 19 -
3E4 65-200/1.5 15 2 176 181.1 841|853 |0.71| 6.2 | 3.6 - 45 26 -
3E4 65-200/2.2 |[100| 2.2 3 254186.1| 87 |86.7|078| 78 | 45 - 53.7| 31 -
3E4 80-160/1.5 90 | 15 2 IE3 176 181.1 841|853 |0.71| 6.2 | 3.6 - 45.0 | 26.0 -
3E4 80-200/2.2 100 2.2 3 254 |(86.1| 8 |86.7|078]| 7.8 | 45 - 53.7| 31 -
3E4 80-200/3 3.0 4 342|857 |87.7|878|072]11.8| 6.8 - 83.1 | 48 -
3E4 100-160/1.5 | 90 | 1.5 2 1.76 1 81.1|184.1 853 |0.71| 6.2 3.6 - 45.0 | 26.0 -
3E4 100-160/2.2 |100| 2.2 3 254186.1| 87 |86.7|078| 78 | 45 - 53.7| 31 -

355
g EgAnA EBARA corroration

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS 3E

TECHNICAL DATA 50Hz
Rev.B

MOTOR DATA 3ES 2 POLE

Motor Efficiency (% load) and Full load current Locked rotor current
Pump type Input power-factor Al Al
Size Power | [kW] nN% coS-¢
[kW]|[HP] 50% | 75% |100% 230V |400V |690V |[230V|400V |690V
3ES 32-125/0.75 80 |0.75| 1 | 1.26 | 78.7 | 81.7 | 815 | 0.78 | 4.3 2.5 - 29.4 | 17.0 -
3ES 40-160/1.5 90S | 15| 2 | 1.77 | 83.2 | 848 | 84.2 | 0.85 | 5.2 3.0 - 436 | 25.2 -
3ES 40-160/2.2 90L | 22| 3 | 261 | 850 | 86.2 | 865 | 0.82 | 8.0 4.6 - 73.3 | 42.3 -
3ES 40-200/3.0 100L | 3.0| 4 | 3.45| 823 | 85.8 | 87.1 | 0.89 | 9.7 5.6 - 85.4 | 49.3 -
3ES 40-200/4.0 112M |40 | 55| 451 | 86.8 | 87.8 | 88.1 | 093 | 12.1 | 7.0 - 116.4| 67.2 -
3ES 40-200/7.5 132S | 75| 10 | 8.35 | 88.6 | 89.2 | 90.1 | 0.92 - 13.1 | 7.6 - 116.6 | 67.3
3ES 50-100/0.75 80 |0.75| 1 | 1.26 | 78.7 | 81.7 | 815 | 0.78 | 4.3 2.5 - 29.4 | 17.0 -
3ES 50-125/1.5 90S | 15| 2 | 1.77 | 83.2 | 848 | 84.2 | 0.85 | 5.2 3.0 - 436 | 25.2 -
3ES 50-125/2.2 90L | 22| 3 | 261 | 850 | 86.2 | 865 | 0.82 | 8.0 4.6 - 73.3 | 42.3 -
3ES 50-160/3.0 100L | 3.0| 4 | 3.45| 823 | 85.8 | 87.1 | 0.89 | 9.7 5.6 - 85.4 | 49.3 -
3ES 50-160/4.0 112M |40 | 55| 451 | 86.8 | 87.8 | 88.1 | 093 | 12.1 | 7.0 - 116.4| 67.2 -
3ES 50-200/5.5 1325 5575|624 | 88.0 | 885 | 89.2 | 0.9 - 10.0 | 5.8 - 89.0 | 514
3ES 50-200/7.5 75| 10 | 835 | 88.6 | 89.2 | 90.1 | 0.92 - 13.1 | 7.6 - 116.6 | 67.3
3ES 50-200/11 160M | 11 | 15 |12.15| 87.4 | 89.8 | 91.2 | 0.89 - 19.7 | 11.4 - 179.3 | 103.5
3ES 65-100/0.75 80 |0.75] 1 | 126 | 78.7 | 81.7 | 815 | 0.78 | 4.3 2.5 - 29.4 | 17.0 -
3ES 65-100/1.1 80 (11| 2 | 126 | 78.7 | 81.7 | 827 | 0.76 | 4.2 2.4 - 38.7 | 22.3 -
3ES 65-100/1.5 90S | 15| 2 | 1.77 | 83.2 | 848 | 84.2 | 0.85 | 5.2 3.0 - 436 | 25.2 -
3ES 65-125/2.2 90L | 22| 3 | 261 | 850 | 86.2 | 865 | 0.82 | 8.0 4.6 - 73.3 | 42.3 -
3ES 65-125/3.0 100L | 3.0| 4 | 3.45| 823 | 85.8 | 87.1 | 0.89 | 9.7 5.6 - 85.4 | 49.3 -
3ES 65-125/4.0 112M |40 | 55| 451 | 86.8 | 87.8 | 88.1 | 093 | 12.1 | 7.0 - 116.4| 67.2 -
3ES 65-160/5.5 1325 5575|624 | 88.0 | 885 | 89.2 | 0.9 - 10.0 | 5.8 - 89.0 | 514
3ES 65-160/7.5 75| 10 | 835 | 88.6 | 89.2 | 90.1 | 0.92 - 13.1 | 7.6 - 116.6 | 67.3
3ES 65-200/9.2 132M | 9.2 |12.5/10.17| 88.6 | 89.8 | 90.7 | 0.89 - 16,5 | 9.5 - 166.7 | 96.2
3ES 65-200/11 160M 11 | 15 |12.15| 87.4 | 89.8 | 91.2 | 0.89 - 19.7 | 114 - 179.3|103.5
3ES 65-200/15 15 | 20 |[16.46| 91.0 | 91.3 | 91.9 | 0.89 - 26.7 | 15.4 - 259.0 | 149.5
3ES 80-100/1.5 90S | 15| 2 | 1.77 | 83.2 | 848 | 84.2 | 0.85 | 5.2 3.0 - 43.6 | 25.2 -
3ES 80-100/2.2 90L | 22| 3 | 261 | 850 | 86.2 | 865 | 0.82 | 8.0 4.6 - 73.3 | 42.3 -
3ES 80-160/9.2 132M | 9.2 |12.5|10.17| 88.6 | 89.8 | 90.7 | 0.89 - 16,5 | 9.5 - 166.7 | 96.2
3ES 80-160/11 160M 11 | 15 |12.15| 87.4 | 89.8 | 91.2 | 0.89 - 19.7 | 11.4 - 179.3 | 103.5
3ES 80-160/15 15 | 20 |16.46| 91.0 | 91.3 | 91.9 | 0.89 - 26.7 | 15.4 - 259.0 | 149.5
3ES 80-200/18.5 160L |18.5| 25 | 20.12| 91.6 | 92.8 | 92.4 | 0.88 - 33.0 | 19.1 - 353.1 | 203.9
3ES 80-200/22 180M | 22 | 30 |23.69] 92.3 | 929 | 929 | 0.9 - 38.0 | 22.0 - 361.0 | 209.0
3ES 100-160/11 160M 11 | 15 |12.15| 87.4 | 89.8 | 91.2 | 0.89 - 19.7 | 114 - 179.3 | 103.5
3ES 100-160/15 15 | 20 |[16.46| 91.0 | 91.3 | 91.9 | 0.89 - 26.7 | 15.4 - 259.0 | 149.5
3ES 100-160/18.5 | 160L [18.5| 25 [20.12| 91.6 | 92.8 | 92.4 | 0.88 - 33.0 | 19.1 - 353.1 | 203.9
356

g EgAnA EBARA corroration



IN-LINE CENTRIFUGAL PUMPS 3E

TECHNICAL DATA 50Hz
Rev.B

MOTOR DATA 3ES 4 POLE

Motor N Input Eﬁm'%%?/\}//e(:_/(f);ggdr) and Full load current Locked rotor current
Pump type S Power Efficiency [KW] n% [A] [A]
28| ewq| [HPY 50% | 75% |100%|°°"®| 230 V| 400 v | 690 Vv | 230 v | 400 v | 690 Vv
3ES4 32-200/0.55 | 80 [0.55|0.75 IE2 0711719 | 759 | 77.7 |0.75| 2.4 14 - 14.8 8.6 -
3ES4 40-200/0.55 | 80 |0.55|0.75 071|719 | 759 | 77.7 |0.75| 2.4 1.4 - 14.8 8.6 -
3ES4 40-200/0.75 | 80 |0.75| 1 IE3 092 | 80.7| 815|825 |0.74| 3.1 1.8 - 17.3 | 10.0 -
3ES4 50-160/0.55 | 80 |0.55|0.75 IE2 071|719 | 759 | 77.7 |0.75| 2.4 1.4 - 14.8 8.6 -
3ES4 50-200/0.75 | 80 |0.75] 1 0.92 | 80.7| 815|825 |0.74| 3.1 1.8 - 17.3 | 10.0 -
3ES4 50-200/1.1 |90S|1.1|1.5 IE3 1.30 | 83.3 | 84.3 | 84.1 |0.75| 4.3 2.5 - 30.7 | 17.7 -
3ES4 50-200/1.5 |90L|{15| 2 1.80 | 84.1|85.2|853|0.72| 6.2 3.6 - 41.0 | 23.7 -
3ES4 65-125/0.55 | 80 [0.55|0.75 IE2 0711719 | 759 | 77.7 |0.75| 2.4 14 - 14.8 8.6 -
3ES4 65-160/0.75 | 80 |0.75] 1 092 | 80.7| 815|825 |0.74| 3.1 1.8 - 17.3 | 10.0 -
3ES4 65-160/1.1 [90S|1.1| 1.5 IE3 1.30 |1 83.3 | 84.3|84.1 |0.75| 4.3 25 - 30.7 | 17.7 -
3ES4 65-200/1.5 [90L| 15| 2 1.80 |1 84.1 | 852|853 |0.72| 6.2 3.6 - 41.0 | 23.7 -
3ES4 65-200/2.2 |100L{ 2.2 | 3 258 | 83.2 | 86.2 | 86.7 |0.63| 10.2 | 5.9 - 73.6 | 425 -
3ES4 80-160/1.5 |90L|1.5| 2 1.80 | 84.1|85.2|853|0.72| 6.2 3.6 - 41.0 | 23.7 -
3ES4 80-200/2.2 |100L{ 2.2 | 3 258|832 | 86.2 | 86.7 |0.63| 10.2 | 5.9 - 73.6 | 425 -
3ES4 80-200/3 100L| 3.0 | 4 IE3 344|851 |87.1|87.7(0.73| 11.8 6.8 - 954 | 55.1 -
3ES4 100-160/1.5 [90L| 15| 2 1.80 |1 84.1 | 852|853 |0.72| 6.2 3.6 - 41.0 | 23.7 -
3ES4 100-160/2.2 [100L| 2.2 | 3 258 | 83.2 | 86.2 | 86.7 |0.63| 10.2 5.9 - 73.6 | 425 -

357
g EgAnA EBARA corroration

PM10U



PM10U

IN-LINE CENTRIFUGAL PUMPS

3E

TECHNICAL DATA 50Hz
Rev.B
NOISE DATA 3E-3ES 2 POLE
Pump type Power LpA - dB(A) * Pump type Power LpA - dB(A) *
[kw] [HP] [kwW] [HP]
3E 32-125/0.37 0.37 0.5 61 3ES 32-125/0.75 0.75 1
3E 32-125/0.55 0.55 0.75 62 3ES 40-160/1.5 1.5 2
3E 32-125/0.75 0.75 1 3ES 40-160/2.2 2.2 3 <70
3E 40-160/1.1 1.1 1.5 3ES 40-200/3 3 4
3E 40-160/1.5 15 2 69 3ES 40-200/4 4 5.5
3E 40-160/2.2 2.2 3 3ES 40-200/7.5 7.5 10 72
3E 40-200/3 3 4 76 3ES 50-100/0.75 0.75 1
3E 40-200/4 4 55 3ES 50-125/1.5 1.5 2
3E 40-200/7.5 7.5 10 79 3ES 50-125/2.2 2.2 3 <70
3E 50-100/0.37 0.37 0.5 61 3ES 50-160/3 3 4
3E 50-100/0.55 0.55 0.75 62 3ES 50-160/4 4 55
3E 50-100/0.75 0.75 1 3ES 50-200/5.5 55 7.5 72
3E 50-125/1.5 1.5 2 69 3ES 50-200/7.5 7.5 10
3E 50-125/2.2 2.2 3 3ES 50-200/11 11 15 74
3E 50-160/3 3 4 76 3ES 65-100/0.75 0.75 1
3E 50-160/4 4 5.5 3ES 65-100/1.1 1.1 1.5 <70
3E 50-200/5.5 5.5 7.5 9 3ES 65-100/1.5 15 2
3E 50-200/7.5 7.5 10 ! 3ES 65-125/2.2 2.2 3
3E 50-200/11 11 15 82 3ES 65-125/3 3 4 <70
3E 65-100/0.55 0.55 0.75 62 3ES 65-125/4 4 5.5
3E 65-100/0.75 0.75 1 3ES 65-160/5.5 55 7.5
3E 65-100/1.1 1.1 1.5 3ES 65-160/7.5 7.5 10 72
3E 65-100/1.5 1.5 2 69 3ES 65-200/9.2 9.2 12.5
3E 65-125/2.2 2.2 3 3ES 65-200/11 11 15
3E 65-125/3 3 4 76 3ES 65-200/15 15 20 I
3E 65-125/4 4 5.5 3ES 80-100/1.5 1.5 2 <70
3E 65-160/5.5 5.5 7.5 79 3ES 80-100/2.2 2.2 3
3E 65-160/7.5 7.5 10 3ES 80-160/9.2 9.2 12.5 72
3E 65-200/9.2 9.2 12.5 82 3ES 80-160/11 11 15
3E 65-200/11 11 15 3ES 80-160/15 15 20 74
3E 65-200/15 15 20 86 3ES 80-200/18.5 18.5 25
3E 80-100/1.5 15 2 69 3ES 80-200/22 22 30 77
3E 80-100/2.2 2.2 3 3ES 100-160/11 11 15
3E 80-160/9.2 9.2 12.5 82 3ES 100-160/15 15 20 74
3E 80-160/11 11 15 3ES 100-160/18.5 18.5 25
3E 80-160/15 15 20
3E 80-200/18.5 18.5 25 86
3E 80-200/22 22 30
3E 100-160/11 11 15 80
3E 100-160/15 15 20
3E 100-160/18.5 18.5 25 83-82
* Mean value of several measures at 1m distance around the pump.
Tolerance =*2.5dB.
Sound pressure level of motor pumps with AEG
358
EBARA corroration

e Eaana



IN-LINE CENTRIFUGAL PUMPS 3E

TECHNICAL DATA 50Hz
Rev.B

NOISE DATA 3E-3ES 4 POLE

Pump type [kW]Power[HP] LpA - dB(A) * Pump type [kW]Power[HP] LpA - dB(A) *
3E4 32-160/0.37 0.37 0.5 3ES4 32-200/0.55 0.55 0.75
3E4 32-160/0.37R 0.37 0.5 3ES4 40-200/0.55 0.55 0.75
3E4 32-200/0.55 0.55 0.75 3ES4 40-200/0.75 0.75 1
3E4 40-160/0.37 0.37 0.5 3ES4 50-160/0.55 0.55 0.75
3E4 40-160/0.37R 0.37 0.5 3ES4 50-200/0.75 0.75 1
3E4 40-200/0.55 0.55 0.75 3ES4 50-200/1.1 1.1 15
3E4 40-200/0.75 0.75 1 3ES4 50-200/1.5 1.5 2
3E4 50-125/0.37 0.37 0.5 3ES4 65-125/0.55 0.55 0.75
3E4 50-160/0.55 0.55 0.75 3ES4 65-160/0.75 0.75 1 <70
3E4 50-200/0.75 0.75 1 3ES4 65-160/1.1 1.1 1.5
3E4 50-200/1.1 1.1 1.5 <70 3ES4 65-200/1.5 1.5 2
3E4 50-200/1.5 1.5 2 3ES4 65-200/2.2 2.2 3
3E4 65-125/0.55 0.55 0.75 3ES4 80-160/1.5 1.5 2
3E4 65-160/0.75 0.75 1 3ES4 80-200/2.2 2.2 3
3E4 65-160/1.1 1.1 1.5 3ES4 80-200/3 3 4
3E4 65-200/1.5 1.5 2 3ES4 100-160/1.5 1.5 2
3E4 65-200/2.2 2.2 3 3ES4 100-160/2.2 2.2 3
3E4 80-160/1.5 15 2
3E4 80-200/2.2 2.2 3
3E4 80-200/3 3 4
3E4 100-160/1.5 1.5 2
3E4 100-160/2.2 2.2 3
* Mean value of several measures at 1m distance around the pump.
Tolerance = 2.5dB.
Sound pressure level of motor pumps with AEG
359

g EgAnA EBARA corroration

PM10U



Ti
0

-

The contents of this publication must not be considered binding.

EBARA Pumps Europe S.p.A. reserves the right to make any modifications considered necessary without prior notice.

REV.B

EBARA Pumps Europe S.p.A.
Via Torri di Confine 2/1 int. C
36053 Gambellara (Vicenza), Italy
Phone +39 0444 706811
ebarapumps.epe @ebara.com
www.ebaraeurope.com

EBARA Pumps Europe S.p.A. GERMANY
Elisabeth-Selbert-StraBe 2

63110 Rodgau, Germany

Phone +49 (0) 6106-660 99-0

info.epde @ebara.com

EBARA Pumps South Africa (PTY) LTD
26 Kyalami Boulevard,

Kyalami Business Park, 1684, Midrand,
Gauteng, South Africa

Phone +27 11 466 1844
ebara.epsa@ebara.com

EBARA Pumps Europe S.p.A. UK

Unit A, Park 34

Collett Way - Didcot

Oxfordshire - OX11 7WB, United Kingdom
Phone +44 1895 439027
marketing.epuk@ebara.com

EBARA Pumps Europe S.p.A. FRANCE
122, Rue Pasteur

69780 Toussieu, France

Phone: +33 04 72 76 94 82
mktg.efr@ebara.com

EBARA Pumps East Africa

Delta Corner Tower 2, 13th Floor, Office 1308,
Chiromo Road, Westlands

P.O. Box 13796-00800, Nairobi

Phone: +254(0)722913119
info.epea@ebara.com

EBARA POMPY POLSKA Sp. z o.0.

ul. Dziatkowa 115 A
02-234 Warszawa, Poland
Phone +48 22 3909920
marketing.epl @ ebara.com

EBARA Pumps Europe Nordic
Gustav Il Boulevard 34,

169 73 Solna, Sweden
info.epen@ebara.com

EBARA West Africa Limited

Plot 9, Block 137,

Professor Gabriel Olusanya Street,
Off Whitesands Street, Elf Bus-stop,
Lekki Phase 1, Lagos, Nigeria
ewasales.epe @ebara.com



	3E Databook Cover.pdf
	目次_240701.doc
	201 PRODUCT FEATURES_50Hz.docx
	202 MAIN APPLICATIONS_50Hz.docx
	203 model variation.docx
	204 general specification pump.docx
	205 general specification motor.docx
	206-rev performance range 2 pole.docx
	207 PERFORMANCE RANGE 4 POLE.docx
	208 centrofugal pumps.docx
	209 centrofugal pumps.docx
	210 Type key 50Hz.docx
	211 PERFORMANCE CURVE SPECIFICATIONS_50Hz.docx
	212 MEI INDEX SPECIFICATION_50Hz.docx
	213-229_PERFORMANCE CURVE 2.docx
	231 performance curve.docx
	232 performance curve.docx
	233 performance curve.docx
	234 performance curve.docx
	235 performance curve.docx
	236 performance curve.docx
	237 performance curve.docx
	238 performance curve.docx
	239 performance curve.docx
	240 performance curve.docx
	242 performance curve.docx
	243 performance curve.docx
	245 performance curve.docx
	301-306 sectional view drawings and table 3E.docx
	307-312 sectional view drawings and table 3ES.docx
	313-320 sectional view drawings and table 3E.docx
	323 3ES_sectional drawing_4P_2nd_Rev.1.docx
	324 3ES_sectional drawing_4P_2nd_Rev.1.docx
	325-330 sectional view drawings and table 3ES.docx
	331 3ES_sectional drawing_4P_2nd_Rev.1.docx
	332 3ES_sectional drawing_4P_2nd_Rev.1.docx
	333-336 bearings.docx
	337-339 mechanical seal.docx
	342-343 coupling(stub-shaft).docx
	344 base plate.docx
	345 counterflange&gasket.docx
	346 dimensions & weight 3E 2 pole.docx
	347 dimensions & weight 3E 4 pole.docx
	348 dimensions & weight 3ES 2 pole.docx
	349 dimensions & weight 3ES 4 pole.docx
	350-353 packing.docx
	354-357 motor data.docx
	358-359 noise data.docx

